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CHEMISTRY

BOOKS - SAI CHEMISTRY (TELUGU
ENGLISH)

p-BLOCK ELEMENTS

1. Identify the most acidic oxide among the

following oxides based on their reaction with


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_YCnd4cXfPHDn

water

A. SO;

B. P4010

C.Cly,O;

D. N,Os

Answer: C

o Watch Video Solution

2. identify the correct statement


https://dl.doubtnut.com/l/_YCnd4cXfPHDn
https://dl.doubtnut.com/l/_us4oxxAveIb4

A. Lead forms compounds in +2 oxidation

state due to inert pair effect

B.All halogens form only negative

oxidation

C. Catenation property increases from

boron to oxygen

D. Oxygen oxidation state is -1 in ozonides.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_us4oxxAveIb4
https://dl.doubtnut.com/l/_1t27uS7XF7WK

3. Assertion (A): Noble gases have very low
boiling points.
Reason (R): All noble gases have general
electronic configuration of ns’np® (except He).
A.Both (A) and (R) are true and (R) is
correct explanation of (A)
B. (A) is false but (R) is true
C.(A) is true but (R) is false

D. Both (A) and (R) are true but (R) is not

the correct explanation of (A)


https://dl.doubtnut.com/l/_1t27uS7XF7WK

Answer: D

o Watch Video Solution

4. Which one of the following is correct with
respect to basic character?

A.P(CH3); > PHj

B. PH; > P(CHj),

C.PH3; > NHj

DPH3 — NH3


https://dl.doubtnut.com/l/_1t27uS7XF7WK
https://dl.doubtnut.com/l/_9D8c5moFZV2o

Answer: A

o Watch Video Solution

5. Sea divers use a mixture of

A.Os, N,

B.Oz, H2

C. 02, He

D. Ny, H,

Answer: C


https://dl.doubtnut.com/l/_9D8c5moFZV2o
https://dl.doubtnut.com/l/_rQ1dERHhf3DZ

° Watch Video Solution

6. Which one of the following elements does

not form triiodide on reacting with iodine ?

A.B

B. Tl

C. Al

D. Ga

Answer: B

| 8 l


https://dl.doubtnut.com/l/_rQ1dERHhf3DZ
https://dl.doubtnut.com/l/_xiTzjKZOQBxM

7. The buffer system which helps to maintain
the pH of blood between 7.26 to 742 is
A.H,CO3 /HCO4
B.NH,OH / NH,CI
C.CH3;COOH /CH3COO _

D.CH3;COONH,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_xiTzjKZOQBxM
https://dl.doubtnut.com/l/_XOImBpLdstPr

8. The key step in the manufacturing of

H,50, by contact process is

A. Absorption of SO5 in HyS0O, to give

oleum

B. dilution of oleum with water

C.Burning of sulphur in air to generate

SO,

D. Catalytic oxidating of SOy with Oy to

give SO3


https://dl.doubtnut.com/l/_XOImBpLdstPr
https://dl.doubtnut.com/l/_Xehtb7Z2uhca

Answer: D

o Watch Video Solution

9. Ammonia on reaction with chlorine forms an

explosive NCl3. What is the mole ratio of

NHj and Cl, required for this reaction?

A 8:3

B.1:1

C.1:3

D.10:1


https://dl.doubtnut.com/l/_Xehtb7Z2uhca
https://dl.doubtnut.com/l/_WJHcg2LQCiQn

Answer: C

o Watch Video Solution

10. The structure of XeOF} is

A. Trigonal bipyramidal

B. Square planar

C. Square pyramidal

D. Pyramidal

Answer: C


https://dl.doubtnut.com/l/_WJHcg2LQCiQn
https://dl.doubtnut.com/l/_qgiF4KF7GUx0

° Watch Video Solution

1. Which one of the following correctly
represents the variation of electronegativity

(EN) with atomic number (Z) of group 13

elements?
.
\%&
T/
7
A.

B. —7


https://dl.doubtnut.com/l/_qgiF4KF7GUx0
https://dl.doubtnut.com/l/_Vf0aGtRv2LfA

R

EN n

Answer: D

o Watch Video Solution

12. Which one of the following elements reacts

with steam?

A.C


https://dl.doubtnut.com/l/_Vf0aGtRv2LfA
https://dl.doubtnut.com/l/_5EAtGFYQtm6T

B. Ge

C.Si

D. Sn

Answer: D

o Watch Video Solution

13. Which one of the following elements on
doping with germanium, make it a p-type

semiconductor ?


https://dl.doubtnut.com/l/_5EAtGFYQtm6T
https://dl.doubtnut.com/l/_V647j81jlinV

A. Bi

B. Sb

C. As

D. Ga

Answer: D

o Watch Video Solution

14. Diborane reacts with HCl in the present of

AlCl; and liberates


https://dl.doubtnut.com/l/_V647j81jlinV
https://dl.doubtnut.com/l/_uygbfgkEM70Z

A. H,

B. Cl,

C. BCl,

D. Cl2 and BClg

Answer: A

o Watch Video Solution

15. Which one of the following is not correct?

A. Pyrophosphoric acid is atetrabasic acid


https://dl.doubtnut.com/l/_uygbfgkEM70Z
https://dl.doubtnut.com/l/_6jHYxXPRfcLn

B. Pyrophosphoric acid contains P-O-P

linkage

C. Pyrophosphoric acid contains two P-H

bonds

D. Orthosphoric acid can be prepared by

dissolving P,O1q in water

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6jHYxXPRfcLn

16. Na,S,0;5 reacts with moist Cly to form

Nay,S04, HCl and X. which one of the

following is X?

A.H,S

B. 5O,

C.SO;3

D. S

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iUD47nX4XHCi

17. The role of copper diaphragm in Whytlaw-

Gray's method is

A. Preventing the corrosion of electrolytic

cell

B. preventing the mixing of Hy and Fy

C. As anode

D. As cathode

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_99AH3EINwT2j

18. Liquid X is used is bubble chamber to

detect neutral mesons and gamma photons.

Then, X is

A. He

B. Ne

C.Kr

D. Xe

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_99AH3EINwT2j
https://dl.doubtnut.com/l/_OwqINuAXvU6F

19. Which of the following cannot form an

amphoteric oxide?

A. Al

B. Sn

C.Sb

D.P

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OwqINuAXvU6F
https://dl.doubtnut.com/l/_lr7IMoE1Fxlv

20. The catalyst and promoter respectively

used in the Haber's process of inddustrial

synthesis of ammonia are

A. MO, V504

B. ‘/205, Fe

C.Fe, Mo

D. Mo, Fe

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iavSiEY4qWpW

21. What is Z in the following reactions?

methylation

Cu— Al
BCl3+H2LE>X+HCl X— 7
450°

A. (CH3)23H2
B. (CH3)4B2H2
C. (CH3)3BQH3

D. (CH3)632

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_zwx0I99G8YZl
https://dl.doubtnut.com/l/_CtFpWqkZIHRQ

22. Which one of the following elements

reduces NaOH to Na?

A.Si

B.Pb

C.C

D. Sn

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_CtFpWqkZIHRQ

23. Which one of the following used in the

preparation of cellulose nitrate?

A. KNO;

B. HNO;

c. KNO,

D. HNO,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Rnpi54lHC9Em
https://dl.doubtnut.com/l/_Fn5X6fBr3Wf7

24. The oxoacid of sulphur which contains two

sulphur atoms in different oxidation state is

A. Pyrosulphurous acid

B. Hyposulphurous acid

C. Pyrosulphuric acid

D. Persulphuric acid

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Fn5X6fBr3Wf7

25.Bond energy of Cly, Bry and I, follow the

order

A.Cly > Bry > I,

B. Bry > Cly > I,

C.I, > Bry > Cl,

D.I, > Cly > Bry

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CjFMsQgzIIj6
https://dl.doubtnut.com/l/_EcFG13KNE0eg

26. Assertion (A): The boiling points of noble

gases increase from He to Xe.

Reason (R): the interatomic van der Wall's

attractive forces increases from He to Xe.

The correct answer is

A.Both (A) and (R) are true and (R) is

correct explanation of (A)

B. Both (A) and (R) are true, and (R) is not

the correct explanation of (A)

C. (A) is true but (R) is false

D. (A) is not true but (R) is true


https://dl.doubtnut.com/l/_EcFG13KNE0eg

Answer: A

o Watch Video Solution

27. Which one of the following statements is

not correct?

A. Moissan boron is amorphous

B.The reaction between boron and

concentrated HNO; gives Ny


https://dl.doubtnut.com/l/_EcFG13KNE0eg
https://dl.doubtnut.com/l/_5XtYWFO6XtoF

C. Amorphous boron on heating with

oxygen forms By0s.

D. Boron is a non-conductor of electricity

Answer: B

o Watch Video Solution

28. Which one of the following is a correct

set?

A. Diamond, sp?


https://dl.doubtnut.com/l/_5XtYWFO6XtoF
https://dl.doubtnut.com/l/_G0if0RHkumd5

B. Graphite, sp®
C. Diamond, sp

D. Graphite, sp®

Answer: D

o Watch Video Solution

29. The total number of o and m-bonds in

pyrophosphoric acid are respectively

A. 8,2


https://dl.doubtnut.com/l/_G0if0RHkumd5
https://dl.doubtnut.com/l/_eGwYqi66fDuh

B. 10,2

C.12,2

D. 84

Answer: C

o Watch Video Solution

30. What are the products formed when moist

chlorine gas is reacted with hypo?

A. NCLQSO4, S, HCI


https://dl.doubtnut.com/l/_eGwYqi66fDuh
https://dl.doubtnut.com/l/_9ayiGB1ep3wr

B. NG2SO3, S, HCI

C. Na25406, Na,2503, HCI

D. Na,S,0¢, NaCl, HCI

Answer: A

o Watch Video Solution

31. What is the bond angle in C10,(OCIO) ?

A.90°

B.118°


https://dl.doubtnut.com/l/_9ayiGB1ep3wr
https://dl.doubtnut.com/l/_tuZ7VPY3yYJ0

C.105°

D.111°

Answer: B

° Watch Video Solution

32.The hybridisation of Xe and the number of

lone pairs of electrons on it in XeFjy are

A spid? 1

B. sp>d?, 2


https://dl.doubtnut.com/l/_tuZ7VPY3yYJ0
https://dl.doubtnut.com/l/_kPAKchVWA6Wh

C.sp’d?, 2

D. sp°d?, 1

Answer: D

o Watch Video Solution

33. Diborane reacts with ammonia under
different conditions to give a variety of
products. Which one among the following is

not formed in these reactions?


https://dl.doubtnut.com/l/_kPAKchVWA6Wh
https://dl.doubtnut.com/l/_9wmURnvPpeTt

A ByHg, 2NH,

D.(BN),

Answer: B

° Watch Video Solution

34. Which one of the following is the mineral

for tin?


https://dl.doubtnut.com/l/_9wmURnvPpeTt
https://dl.doubtnut.com/l/_pmjhpN2FlDJt

A. Galena

B. Cerussite

C. Cassterite

D. Anglesite

Answer: C

o Watch Video Solution

35. The oxide of nitrogen formed by thermal

decoposition of NH,NQOj is


https://dl.doubtnut.com/l/_pmjhpN2FlDJt
https://dl.doubtnut.com/l/_paVLrcv5pZ06

A.NO

B. N,O

C. N,O5

D. NO,

Answer: B

o Watch Video Solution

36. Which one of the following is most acidic?

A.H,O


https://dl.doubtnut.com/l/_paVLrcv5pZ06
https://dl.doubtnut.com/l/_n8erFgiMJpuJ

B.H,S

C. H2T6

D. HQSG

Answer: C

o Watch Video Solution

37. Which one of the following is formed apart
from sodium chloride when chlorine reacts

with hot concentrated sodium hydroxide?


https://dl.doubtnut.com/l/_n8erFgiMJpuJ
https://dl.doubtnut.com/l/_oFuaufZMpqYG

A. NaOCl

B. NCLOClg

C. NCLCZOQ

D. NCLClO4

Answer: B

° Watch Video Solution

38. Helium mixed with oxygen is used in the

treatment of


https://dl.doubtnut.com/l/_oFuaufZMpqYG
https://dl.doubtnut.com/l/_iYVeZixhP2Uh

A. Beri Beri

B. Burning feet

C. Joints burning

D. Asthma

Answer: D

o Watch Video Solution

39. The number of pm — dm 'pi' bonds present
in XeO3 and XeO4 molecules, respectively

are


https://dl.doubtnut.com/l/_iYVeZixhP2Uh
https://dl.doubtnut.com/l/_e5XGgQXyG9GT

A 34

B.4,2

C. 23

D. 3,2

Answer: A

o Watch Video Solution

40. The type of bonds present in sulphuric

anhydride are


https://dl.doubtnut.com/l/_e5XGgQXyG9GT
https://dl.doubtnut.com/l/_vy2Dfa860Nn7

A.30 and three pr — dm

B. 30, 0ne pm — pm and two pr — dm

C. 20 and three pm — dm

D. 20 and two pm — dm

Answer: B

o Watch Video Solution

41. Which pair of oxyacids of phosphorus

contains 'P-H' bonds ?


https://dl.doubtnut.com/l/_vy2Dfa860Nn7
https://dl.doubtnut.com/l/_FD8LAZR6hV4U

A. H;PO,, H; PO;

B. H;POs, H,P,0;

C. H;PO,, H3 PO,

D. H;PO,, HPOs

Answer: C

o Watch Video Solution

42. SiCly; on hydrolysis forms 'X' and HCI.
Compound 'X' loses water at 1000°C' and

gives 'Y' compounds 'X' and 'Y' respectively are



https://dl.doubtnut.com/l/_FD8LAZR6hV4U
https://dl.doubtnut.com/l/_4WioCUt1cEiG

A. HyS5:Clg, 510,

B. H,510y, St

C. Si0,, Si

D. H4S’1:O4, S’LOQ

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4WioCUt1cEiG

43. Match the following

List 1 List IT
(A) Feldspar (I) [Ag,SbS ]
(B) Asbestos (II) A7,0,.H,O
(C) Pyrargyrite (1) MgSO, . H.O
(D) Diaspore (IV)KAIS1,0,

(V) CaMg,(Si0,),

The correct answer is

A. A-lV, B-V, C-I, DAl

B. A-1V, B-V,C-1,D

C. A-IV,B-1,C-11L,D-

D. A-ll,B-V,C-IV,D-I


https://dl.doubtnut.com/l/_cOsOfzxNpTUj

Answer: B

o Watch Video Solution

44. Boron halides behave as Lewis acids

because of their nature.

A. Proton donor

B. Covalent

C. Electron deficient

D. lonising


https://dl.doubtnut.com/l/_cOsOfzxNpTUj
https://dl.doubtnut.com/l/_2xcZrvwYdu9v

Answer: C

o Watch Video Solution

45. Identify B in the following reaction

1000°C Carbon
H4SZO4 TO> A —> B+ CO
— 112

A. Corundum

B. Quartz

C.Silica

D. Carborundum


https://dl.doubtnut.com/l/_2xcZrvwYdu9v
https://dl.doubtnut.com/l/_um23JUJwqaWg

Answer: D

o Watch Video Solution

46. The correct oder of reducing abilities of

hydrides of V group elements is,

NH3 < PH3 < ASHg < Sng < B’LH3

NH3 > PH3 > ASHg > Sng > B’LH3


https://dl.doubtnut.com/l/_um23JUJwqaWg
https://dl.doubtnut.com/l/_GpuajdclMOxs

NH3 < PH3 > ASH3 > Sng > B’LH3

Sng > B’L.Hg > A8H3 > N.Hg > PH3

Answer: A

o Watch Video Solution

47. The number of sigma and pi bonds in

peroxodisulphuric acid are, respectively.


https://dl.doubtnut.com/l/_GpuajdclMOxs
https://dl.doubtnut.com/l/_IkL6JPohqQhj

A.9 and 4

B.11and 4

C.4 and 8

D.4 and 9

Answer: B

° Watch Video Solution

48. Which one of the following reactions does

not occur?


https://dl.doubtnut.com/l/_IkL6JPohqQhj
https://dl.doubtnut.com/l/_nTOqFoeLYJSM

A F, +2C1~ — 2F~ + Cl,
B.Cl, + 2F ~ — 2C1~ + F,
C. Na3 [Ag(5203)2}

D. Agg |:Na(8203)2:|

Answer: B

o Watch Video Solution

49, The formula of the product formed, when
sodium triosulphite solution is added to silver

bromide is


https://dl.doubtnut.com/l/_nTOqFoeLYJSM
https://dl.doubtnut.com/l/_wgL3RFtqT31R

A. A925203
C. Na3 I:Ag(5203)2i|

D. Agg [N&(S2O3)2i|

Answer: C

° Watch Video Solution

50. The chemical formula of deldspar is,

A. K AlSi3Oq


https://dl.doubtnut.com/l/_wgL3RFtqT31R
https://dl.doubtnut.com/l/_HlkPVDLqvjJJ

B. Na,gAlFﬁ
C. NCI,AlOQ

D. K,S50,. Al5(S0,),.4A1(OH),

Answer: A

o Watch Video Solution

51. An oxide of an element is a gas and
dissolves in water to give an acidic solution.

The element belongs to,


https://dl.doubtnut.com/l/_HlkPVDLqvjJJ
https://dl.doubtnut.com/l/_oxXAsX7y5Btf

A. Il group

B.IV group

C. VIl group

D. Zero group

Answer: B

o Watch Video Solution

52. Which one of the following noble gases is

used in miner's cap lamps?


https://dl.doubtnut.com/l/_oxXAsX7y5Btf
https://dl.doubtnut.com/l/_OFEqtZo0pV7n

A. Helium

B. Neon

C. Argon

D. Krypton

Answer: D

o Watch Video Solution

53. The following are some statements related
to VA group hydrides,

l. Reducing proeprty increases from NHj3 to


https://dl.doubtnut.com/l/_OFEqtZo0pV7n
https://dl.doubtnut.com/l/_8TJCe6pnkpIa

BiHj,

ll. Tendency to donate lone pair decreases
from NH; to BiHj.

ll. Thermal stability of hydrides decreases
from NH; to BiH;.

IV. bond angle of hydrides decreases from

NH3 to B’LH3
A. LILIIT and IV
B.I, Il and IV
C.I,Iland IV

D.land IV


https://dl.doubtnut.com/l/_8TJCe6pnkpIa

Answer: A

o Watch Video Solution

54. Which of the following is an example of

interstitial hydride?

A NH,

B. CH,

C. ZnHz

D. H,O


https://dl.doubtnut.com/l/_8TJCe6pnkpIa
https://dl.doubtnut.com/l/_UabqB4Arr12r

Answer: C

o Watch Video Solution

55. Which of the following is not a peroxy

acid?

A. Perphosphoric acid

B. pernitric acid

C. Perdisulphuric acid

D. Perchloric acid


https://dl.doubtnut.com/l/_UabqB4Arr12r
https://dl.doubtnut.com/l/_W8B9DamyAk0S

Answer: D

o Watch Video Solution

56. Calorific value of producer gas is low

because of

A. High percent of N,

B. Low percent of C'O,

C. High percent of CO

D. Low percent of N,


https://dl.doubtnut.com/l/_W8B9DamyAk0S
https://dl.doubtnut.com/l/_p0pEebcMH7Wc

Answer: A

o Watch Video Solution

57. Among the following, which is water

insoluble?

A. sodium fluoride

B. Potassium fluride

C. Beryllium floride

D. Magnesium flouride


https://dl.doubtnut.com/l/_p0pEebcMH7Wc
https://dl.doubtnut.com/l/_0K57KFpylVIp

Answer: D

o Watch Video Solution

58. Which of the following is used for making

optical instruments?

A. 510,

B. 5%

C.SiH,

D. S:C


https://dl.doubtnut.com/l/_0K57KFpylVIp
https://dl.doubtnut.com/l/_LJQqUyiJNx7J

Answer: A

o Watch Video Solution

59. Which of the following is not correct?

Silent electric

A. 30, < > 20;, AH = — 284.5kJ

discharge

B. ozone undergoes addition reaction with

unsaturated carbon compounds

C.Sodium thiosulphate reacts with I to

form sodium tetrathionate and sodium


https://dl.doubtnut.com/l/_LJQqUyiJNx7J
https://dl.doubtnut.com/l/_zkQ1dCfaJYyN

iodide

D. ozone oxidises lead sulphide to lead

sulphate

Answer: A

o Watch Video Solution

60. Electrolysis of X gives Y at anode. Vacuum
distillation of Y gives Hy0Os. The number of
peroxy (O-O_  bonds present in X and Y

respectively, are


https://dl.doubtnut.com/l/_zkQ1dCfaJYyN
https://dl.doubtnut.com/l/_DnYDlAiWRT6r

A 1]

B.1,2

C. 0,1

D. 0,0

Answer: C

° Watch Video Solution

61. What is the correct order of occurrence (%

by weight) in air of Ne, Ar and Kr?


https://dl.doubtnut.com/l/_DnYDlAiWRT6r
https://dl.doubtnut.com/l/_WCUtmPFe2Ewc

A. Ne > Ar > Kr

B. Ar > Ne > Kr

C.Ar > Kr > Ne

D. Ne > Kr > Ar

Answer: B

o Watch Video Solution

62. Observe the following statements:
l. Bleaching powder is used in the preparation

of chloroform.


https://dl.doubtnut.com/l/_WCUtmPFe2Ewc
https://dl.doubtnut.com/l/_D2sQSif09iSp

ll. Bleaching powder decomposes in the
presence of C'oCl, to liberate Os.
ll. Aqueous KHPF, is used is in the
preparation of fluorine.
The correct combination is

A. I, 11 and Ill are correct

B. Only Il is correct

C.Only I and lll are correct

D.Only | and Il are correct

Answer: D

| 8


https://dl.doubtnut.com/l/_D2sQSif09iSp

63. Hydrolysis of NCl; gives NH3 and X.

which of the following is X?

A.HCIlO,

B. HCIO4

C. HOCI

D. HCIO,

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_D2sQSif09iSp
https://dl.doubtnut.com/l/_aBTFGYCTP7oa

64. Which of the following reactions does not

liberate gaseous product?

A. AlCl3 + NaOH —

B. NaOH + P(white) + H,O —
A

C. Al + NaOH —

A
D.Zn + NaOH —

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_aBTFGYCTP7oa
https://dl.doubtnut.com/l/_b9BQXXQuOv6K

65. In Fischer-Ringe's method of separation of

noble gases mixture from air, ... Is used

A.90% CaCy 4+ 10 % CaCl,

B. coconum charcoal

C. Soda lime+Potash solution

D.90% CaCOs + 10 % urea

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_upoSDICcRpsO
https://dl.doubtnut.com/l/_wI1D9C0D9Fft

66. Observe the following statements
regarding purification of bauxite.

l. During Hall's producess, silica is removed as
Si (vapour).

ll. Bauxite ore contaminated with Fe;Os3 is
purified by Baeyer's process.

lll. During Serpeck's process. AIN is formed.

The correct answer is

A. 1,11 and Ill are correct

B. Only I and Il are correct

C.Only I and lll are correct


https://dl.doubtnut.com/l/_wI1D9C0D9Fft

D. Only Il and Il are correct

Answer: D

° Watch Video Solution

67. Which one of the following reactions does

not form gaseous product?

A. Pb02 + HzOg —

B. Acidified KMnO,4 + H,O9 —


https://dl.doubtnut.com/l/_wI1D9C0D9Fft
https://dl.doubtnut.com/l/_dgpJOAoTmpag

D. Clz + H202 —

Answer: C

° Watch Video Solution

68. Which of the following is not correct?

A. 510, is used as acid flux
B.the distance betweenthe layers

graphite is 3.35 x 10~ 8cm


https://dl.doubtnut.com/l/_dgpJOAoTmpag
https://dl.doubtnut.com/l/_EEuBohjgX3PO

C. 8104 reacts with Na,C O3 and liberates
CcoO

D. The hybridisation of C in graphite is sp

Answer: C

o Watch Video Solution

69. Which of the following is not correct?

A. Ammonia is used as refrigerant


https://dl.doubtnut.com/l/_EEuBohjgX3PO
https://dl.doubtnut.com/l/_Nna3DkDmQ6De

B. A mixture of C'a(C'N), and C is known
as nitrolim

C.A mixture of
Ca(H,PO,), and CaS0O,4.2H,0 is
known as super phosphoate is lime

D. Hydrolysis of NC'3 gives N H3 and HOCI

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Nna3DkDmQ6De

70. Which of the following is not correct?

A.lodine oxidses sodium thiosulphate to

sodium tetrathionate

B. Sodium thiosulphate is soluble in water

C. Ozone is used to identify the present of

unsaturation is alkenes

D. Sodium thiosulphate reacts with iodine

to form sodium sulphate

Answer: D



https://dl.doubtnut.com/l/_7m1rGxMlRSGF

‘ o Watch Video Solution

71. Which one of the following pairs of
reactants does not form oxygen, when they
react with each other ?

A. F5, NaOH solution (hot, conc)

B. 5, Hy,O

C.Cly, NaOH solution (cold, dilute)

D. CaOCl,, H,S0 (dilute, small amount)

Answer: C


https://dl.doubtnut.com/l/_7m1rGxMlRSGF
https://dl.doubtnut.com/l/_yIBhXayR0otP

° Watch Video Solution

72. The number of oxygen atoms bonded to

one phosphorus atom is P, is

A4

B.3

C.6

D.5

Answer: B

| 8 l


https://dl.doubtnut.com/l/_yIBhXayR0otP
https://dl.doubtnut.com/l/_grTjQ54zh8GK

73. Which of the following has S-S bond?

A. H25206

B. H, S50,

C. Hy5,04

D. mustard gas

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_grTjQ54zh8GK
https://dl.doubtnut.com/l/_0t8Xr3cUnYKG
https://dl.doubtnut.com/l/_yAJX9wRa57cV

74. Which one of the following is used as an

acid flux in metallurgy?

A. CaO

B. 570,

C. Na,2003

D. SOs.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_yAJX9wRa57cV
https://dl.doubtnut.com/l/_dWxE34XeNeiK

75. Which one of the following is correct about

stability of the given ions?

A PY2t > Pptt

B.Pb*t > Pyt

C.913T > g4

D.Sn*t > Sn3™

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_dWxE34XeNeiK

76. The product obtained at anode when 50%
H,50, aqueous solution is electrolysed using

platinum electrodes, is

A. H, 805

B. H,S,05

C. O,

D. H,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XqhWTROQA5dV

77.Sulphur trioxide is dissolved in heavy water
to form a compound X. The hybridisation state

of sulphur Xis

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_N0pllbgsELkk

78. Two oxides of nitrogen, NO and NO, react
together at 253 K and form a compound of
nitrongen, X. X reacts with water to yield
another compound of nitrogen Y. the shape of
the anion of Y molecule is

A. Tetrahedral

B. Triangular planar

C. Square planar

D. Pyramidal

Answer: B


https://dl.doubtnut.com/l/_6MflEPexGid7

° Watch Video Solution

79. Chlorine atom, ini its third excited state,

react with fluorine to form compound X. the

formula and shape of X are

A. ClF5, pentagonal

B. ClF}, tetrahedral

C. ClF},, pentagonal bipyramidal

D. ClF;, pentagonal bipyramidal

Answer: D


https://dl.doubtnut.com/l/_6MflEPexGid7
https://dl.doubtnut.com/l/_bbw0QnwgW7BR

° Watch Video Solution

80. The bond energies (in kJ mol_l) of P-H, as-
H and N-H are respectively.

A. 247,389 and 318

B. 247,318 and 389

C. 318,389 and 247

D. 318,347 and 389

Answer: D

| 8 l


https://dl.doubtnut.com/l/_bbw0QnwgW7BR
https://dl.doubtnut.com/l/_DQBx1xEz7XnB

81. Which one of the following statements is
correct with respect to basic character?
A.PH; > P(CHs),
B. PH3 — NH3
C.PH; > NH;j

D. P(CH3), > PH,;

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DQBx1xEz7XnB
https://dl.doubtnut.com/l/_GZS50fcR83P3

82. What are the products formed when

ammonia reacts with excess chlorine ?

A. N2 and NClg

B.NCl3 and HCI

C. N2 and NH4Cl

D. N2 and HCl

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_GZS50fcR83P3
https://dl.doubtnut.com/l/_8jCw9dE0emAI

83. One mole of fluorine reacted with two
moles of hot concentrated KOH. The products
formed are KF, H,O and O,. Themolar ratio of
KF, H,O and O, respectively is

Al:1:2

B.2:1:0.5

C.1l:2:1

D.2:1:2

Answer: B

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_967Jz64AM07f

84.Which one of the following is a correct pair
with respect to molecular formula of xenon
compound and hybridisation state of xenon in
it?

A. XeF,, sp’

B. XeF), sp

C. XeF,, sp°d

D. XeF}, sp


https://dl.doubtnut.com/l/_967Jz64AM07f
https://dl.doubtnut.com/l/_lbBh5hiYeIjR

Answer: C

o Watch Video Solution

85. When bauxite powder is mixed with coke
and reacted with nitrogen at 2075 K, carbon
monoxide and X are formed. What is the gas

formed when X is reacted with water?

A NH,

B. IV,

C. NyO


https://dl.doubtnut.com/l/_lbBh5hiYeIjR
https://dl.doubtnut.com/l/_JGWN7g1Xxs4M

D. O,

Answer: A

o Watch Video Solution

86. Thermite is a mixture of X parts of ferric

oxide and Y parts of aluminium powder. X, Y

respectively, are

A. 3,

B. 3,2


https://dl.doubtnut.com/l/_JGWN7g1Xxs4M
https://dl.doubtnut.com/l/_GZ9yhQca05mc

C. 1,1

D.23

Answer: A

° Watch Video Solution

87. What is the molecular formula of borazole

A B, Hj;

B. By Ny H


https://dl.doubtnut.com/l/_GZ9yhQca05mc
https://dl.doubtnut.com/l/_kuEXXJudDZFt

C. B3N3H6

D. BNy H;

Answer: C

o Watch Video Solution

88. The catenation tendency of C, Si and Ge is
in the order Ge < St < C.The bond energies
(in k] mol 1) of C-C, Si-Si and Ge-Ge bonds,

respectively, are


https://dl.doubtnut.com/l/_kuEXXJudDZFt
https://dl.doubtnut.com/l/_bRocAn2CVzvl

A. 167180348

B. 180167348

C. 348167180

D. 348180167

Answer: D

o Watch Video Solution

89. What are the products formed when
chlorine is passed through aqueous hypo

solution?


https://dl.doubtnut.com/l/_bRocAn2CVzvl
https://dl.doubtnut.com/l/_KdWcrekQeluA

A.NaySO3 + HClL + S

B. NCLQSO3 + SOg + HCI

D. NaySO4 + HCU + SO,

Answer: C

o Watch Video Solution

90. Which of the following order is correct for

the bond energies of halogen molecules?


https://dl.doubtnut.com/l/_KdWcrekQeluA
https://dl.doubtnut.com/l/_CanGEFUtuBAy

A. I, > Cly > Bry

B.Bry > Cly > I,

C.Cly > Bry > I

D.I, > Bry > Cl,

Answer: C

o Watch Video Solution

91. Which one of the following halogens
liberates oxygen, when passed through hot

concentrated KOH solution?


https://dl.doubtnut.com/l/_CanGEFUtuBAy
https://dl.doubtnut.com/l/_OnlC77cOKqdX

AT,

B. Cl,

C. B’I"g

D. F,

Answer: C

o Watch Video Solution

92. Bond dissociation energies of HF, HCI, HBr

follow the order


https://dl.doubtnut.com/l/_OnlC77cOKqdX
https://dl.doubtnut.com/l/_mEYxKAE4J95d

A.HCl > HBr > HF

BHF > HBr > HCI

CHF > HCl > HBr

D.HBr > HCl > HF

Answer: C

o Watch Video Solution

93. What are the oxidation number of nitrogen

in NH4NO3?


https://dl.doubtnut.com/l/_mEYxKAE4J95d
https://dl.doubtnut.com/l/_j0RyRiTdRoho

D.+2, + 2

Answer: B

o Watch Video Solution

94. Which of the following is a sulphide ore?

A. Calamine


https://dl.doubtnut.com/l/_j0RyRiTdRoho
https://dl.doubtnut.com/l/_jd0BeOYEh5c1

B. Cryolite

C. Zinc blende

D. Haematite

Answer: C

o Watch Video Solution

95. Which of the following is the strongest

oxidising agent?

A F,


https://dl.doubtnut.com/l/_jd0BeOYEh5c1
https://dl.doubtnut.com/l/_sEilf9khI0rp

B. B’I"g

c. Cl,

D. O,

Answer: A

o Watch Video Solution

96. What is the oxidation state of chlorine in

hypochlorous acid?

A +1


https://dl.doubtnut.com/l/_sEilf9khI0rp
https://dl.doubtnut.com/l/_Htr0cMq58GyO

B. +3

C.+5

D.+7

Answer: A

o Watch Video Solution

97. What is the «catalyst used in the
manufacture of sulphuric acid by contact

process?


https://dl.doubtnut.com/l/_Htr0cMq58GyO
https://dl.doubtnut.com/l/_6XpXubpBzfiu

A. Nickel powder

B. Platinised asbestos

C. Anhydrous Al30;

D. Aluminium powder

Answer: B

o Watch Video Solution

98. Which of the following reacts with BCl; to

form diborane?


https://dl.doubtnut.com/l/_6XpXubpBzfiu
https://dl.doubtnut.com/l/_lRIt84ldk8EP

A. NH,

B. LiAlH,

C. NaHg

D. KQCT‘207

Answer: B

0 Watch Video Solution

99. During Serpeck's process, silica is

eliminated as


https://dl.doubtnut.com/l/_lRIt84ldk8EP
https://dl.doubtnut.com/l/_Jo6ej2oSkvRv

A. Si (solid)

B. 5205 (vapour)

C. 510, (solid)

D. Si (vapour)

Answer: D

° Watch Video Solution

100. What is the molecular formula of white

phosphorus?


https://dl.doubtnut.com/l/_Jo6ej2oSkvRv
https://dl.doubtnut.com/l/_HHQOqEkGHvPU

A P,

B. P,

D. P16

Answer: B

o Watch Video Solution

101. Which of the following is an acid?

A.Ca(OH),


https://dl.doubtnut.com/l/_HHQOqEkGHvPU
https://dl.doubtnut.com/l/_K1wWx6bXqrDg

8. P(OH),
C. NH,OH

D. NaOH

Answer: B

o Watch Video Solution

102. What is the approximate calorific value of

water gas in kcal m 3 ?

A. 500


https://dl.doubtnut.com/l/_K1wWx6bXqrDg
https://dl.doubtnut.com/l/_XFOrHWRXsU7x

B. 2700

C. 4000

D. 1000

Answer: B

o Watch Video Solution

103. Which of the following is used in the

preparation of aerated water (soda) ?

A.CO


https://dl.doubtnut.com/l/_XFOrHWRXsU7x
https://dl.doubtnut.com/l/_EkFdqa6gK1Vi

B. CO,

C. SO,

D. HCI

Answer: B

o Watch Video Solution

104. Which one of the VI group element has

the highest catenation power?

A.O


https://dl.doubtnut.com/l/_EkFdqa6gK1Vi
https://dl.doubtnut.com/l/_aeHKhZkDORIg

B. Se

C.S

D. Te

Answer: C

o Watch Video Solution

105. Which of the following is not true?

A. Aluminium liberates hydrogen on

treating with a base


https://dl.doubtnut.com/l/_aeHKhZkDORIg
https://dl.doubtnut.com/l/_LchTNahYgUzj

B. Aluminium is used in the preparation of

duralumin

C.aluminium is extracted by the

electrolysis of alumina in presence of

cryolite

D. Aluminium is a strong oxidising agent

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_LchTNahYgUzj

106. The industrial preparation of nitric acid by

Ostwald's process involves ?

A. Reduction of NH;

B. Oxidation of NHj

C. Hydronegation of NHj

D. Hydrolysis of N Hj

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vJ2pW0h2qUyk
https://dl.doubtnut.com/l/_bEgDI0rMhRVz

107. In which of the following reactions ozone

acts as a reducing agent?

A. BCLOQ + 03 — BaO + 202

B.2HCl + O3 — Cly + H,0 + O,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bEgDI0rMhRVz
https://dl.doubtnut.com/l/_QHtiQlbIUNjD

108. Which of the following is the weakest acid

in its aqueous solution ?

A. H2T€

B. HgSG

C. H,S

D. HQPO

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_QHtiQlbIUNjD
https://dl.doubtnut.com/l/_abusgtSPoXFM

109. Inorganic benzene contains

A. CHAI

B.CH,B

C. B,N,H

D. CN,H

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_abusgtSPoXFM

110. Which of the following in the anhydride of

HNO;?

A.NO

B. N,O3

C. N204

D. N3O

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_zNWpg20LTPbP
https://dl.doubtnut.com/l/_5Ozp66jddrGa

111. Chlorine is passed into dilute cold KOH

solution. What are the oxidation numbers of

chlorine in the products formed ?

A—1, +5

B.—1, +3

C.+1, +7

D.—1, + 1

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_5Ozp66jddrGa
https://dl.doubtnut.com/l/_fjYkbTtxSyAT

112. The oxidation number of nitrogen in H N3

is

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_fjYkbTtxSyAT

113. Tin store is contaminated with wolframite.

Which one of the following methods can be

employed to dress the tin stone ore?

A. Levigation

B. Electromagnetic separation

C. Floatation process

D. Roasting

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vX9tkSnbN51a

114. Which one of the following can be used as

an anaesthetic ?

A. N,O

B.NO

C. NCl;

D. NO,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_p2KOYBWibc1k
https://dl.doubtnut.com/l/_Tnw0adS8cZv8

115. Hg sticks to the surface of the glass, when

it comes in contact with

A. H,O

B. HNO;

C. Grease

D. Oj

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Tnw0adS8cZv8

116. Cassiterite is concentrated by

A. Levigation

B. Electromagnetic separation

C. Floatation

D. Liquation

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gZ8Vx8jcCTPC

117. Carbogen is

A. Pure form of carbon

B. COCl,

C. Mixture of CO and CO,

D. Mixture of O and CO,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OgcBRs1CkIde

118. Silica is soluble in

A.HCI

B. HNO;

C. H,50,

D.HF

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_czte0iZkn2cw

119. Which one of the following halogens does

not exhibit positive oxidation state in its

compounds?

Al

B. Br

C.Cl

D. F

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iDxVm3PwdzfK

120. Which one of the following ores is

chloride?

A. Horn silver

B. Zincite

C. Bauxite

D. Feldspar

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_uDaPVHo0R25X
https://dl.doubtnut.com/l/_5QHt96nhZrGx

121. Which of the following sequence is correct

with reference to the oxidation number of

iodine?

A l, > Icl < HI < HIO,

B.HIO, < ICl < ILHI

C.IL, < HI < IClI < HIO,

D.HI < I, < ICI < HIO,4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_5QHt96nhZrGx
https://dl.doubtnut.com/l/_nonPcvD4NmYN

122. Quartz is a crystalline variety of

A. Sodium silicate

B. silicon carbide

C.silicon

D. silica

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_nonPcvD4NmYN

123. Which one of the following compounds

liberates CO, from aqueous NaHCO3?

A. Aluminium chloride

B. CHCl;

C.CCly

D. CH,ClI

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_e02e5Hoiy4IN
https://dl.doubtnut.com/l/_vBCLMyxLzArV

124. The bond angle of Hy X (where, X is a

sixth group element), as one goes down the

group

A. Increases

B. Decreases

C. Does not change

D. Changes irregularly

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vBCLMyxLzArV
https://dl.doubtnut.com/l/_1KUyOLP8ly3P

125. With respect to both oxygen and ozone,

which one of the following statements is not

correct?

A. both have similar reactivity with water

B.Oxygen is colourless and ozone is

coloured

C. Oxygen valency is 2 in both

D. Oxygen has 2 bonds and ozone has 3

bonds

Answer: C


https://dl.doubtnut.com/l/_1KUyOLP8ly3P

° Watch Video Solution

126. The element which can displace three

other halogens from their compounds is

A. Cl

B. Br

C.1

D.F

Answer: D

| 8 l


https://dl.doubtnut.com/l/_1KUyOLP8ly3P
https://dl.doubtnut.com/l/_EKbbMuggAMHi

127. Bleaching action of SO, is due to its

A. Oxidising action

B. Ability to hydrolyse

C. Acidic nature

D. Reducing action

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_EKbbMuggAMHi
https://dl.doubtnut.com/l/_9rKvbJwZz30f
https://dl.doubtnut.com/l/_RcRnGOYSMzCY

128. The molecular formula of cryolite is

A.3 NaF, AlF3

B. ALF,

C. 3NaF, AlF3

D. NaF, AlF,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RcRnGOYSMzCY

129. Silver containing lead as an impurity is

removed by

A. Poling

B. Cupellation

C. Levigation

D. Distillation

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ayizQa6Jth5E
https://dl.doubtnut.com/l/_SMj2Uu0lyqRx

130. The chemical formula of diaspore, an ore

of aluminium is

A. Al,O3, 3H50

B. Al,O3, 2H,0

C. Al,Os, H,O

D. Al,O4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_SMj2Uu0lyqRx

131. The inerrt form of carbon is

A. Diamond

B. Graphite

C. Coal

D. Charcoal

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gTpHq6KKriay

132. Which of the following is not a peroxide ?

A. NCL202

B. BCLOg

C. C’l°05

D. PbO,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_XCfhIzwPLObv

133. The glass which contains PbO mainly is

A.Soda glass

B. Flint glass

C. Pyrex glass

D. Borosil

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZvzJqmVu70Fn

134. Which of the following nitrogen halides is

most stable?

A NI,

B. NB’I°3

C. NCl;

D. NF,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_eC5d8eDme6sR
https://dl.doubtnut.com/l/_f8Mv3ckL0WAT

135. The following statement is not true as far

as BFj3 is concerned

A. Electron deficient compound

B. Lewis acid

C. lonic compound

D. Covalent compound

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_f8Mv3ckL0WAT

136. The oxy acid of phosphorus in which

phosphorus has the lowest oxidation state is

A. Hypophosphorus acid

B. Orthophoshoric acid

C. Pyrophosphoric acid

D. Metaphosphoric acid

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Pi2YJACqL88i
https://dl.doubtnut.com/l/_mbdGP9osLeOH

137. The chief product of electrolysis of Al505

at the anode in the Hall's process is

A. H,

B. Na

C. AlF,

D. O,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_mbdGP9osLeOH

138. Ordinar glass is a combination of the

following

A. SiOQ, Na25i03, CCLSZOg

B. S’I:Oz, Na2003, CCLCO3

C. NCI,QCO?,, KQCO3, SZOQ

D. S’I:Og, PbCOg, CCLS’LOg

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0EuKfQ02NFB1
https://dl.doubtnut.com/l/_FrntTMoSf47t

139. Which of the following is correct with

respect to Vth group elements?

A. All the elements exhibit allotropy

B. allotropy

C.all the elements except nitrogen and

bismuth exhibit allotropy

D. All the elements except nitrogen and

arsenic exhibit allotropy

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_FrntTMoSf47t

140. Catalyst used in the

HNOQOj in ostwald process is

A. Platinum gauze
B. 15,05
C.Fe /Mo

D. MTLOQ

Answer: A

manufacture of

o Watch Video Solution



https://dl.doubtnut.com/l/_FrntTMoSf47t
https://dl.doubtnut.com/l/_5IkXna9Vpiu1

141. Which of the following is paramagnetic?

A. N,O,

B. NO

C. N,O3

D. N,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5IkXna9Vpiu1
https://dl.doubtnut.com/l/_GDZTpabH9tPX

142. Preparation of fluorine by direct

electrolysis of liquid HF is not practicable

because

A. very high temperature is needed

B. Electrolytic products are different from

fluorine

C. Very low temperature is required

D. HF is a non-electrolyte

Answer: B

Y. |


https://dl.doubtnut.com/l/_xfGQbu53PTW8

l @ VyWatch vVideo Solution

143. The oxidation state of iodine in ICI, is

A +1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_xfGQbu53PTW8
https://dl.doubtnut.com/l/_kUPe2eJS6aYe
https://dl.doubtnut.com/l/_IN7dZ8tPS88s

144. When 6 volumes of oxygen undergoes

complete reaction to ozone, the number of

moles of ozone formed are

A.6

B.3

C.4

D. 2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_IN7dZ8tPS88s

145. While phosphorus forms PCls, nitrogen

does not form NCl5 because

A. Nitrogen is more electronegative than

phosphorus

B. Nitrogen atom is smaller than

phosphorus

C.The ionisation energy of nitrogen is

greater than that of phosphorus


https://dl.doubtnut.com/l/_KLjNCW2KrYgX

D. Unlike phosphorus, nitrogen has no 'd'

orbital in its valence shell

Answer: D

o Watch Video Solution

146. Which one of the following is not an

allotrope of carbon?

A. Graphite

B. Diamond


https://dl.doubtnut.com/l/_KLjNCW2KrYgX
https://dl.doubtnut.com/l/_XpYOKuQHwzzk

C.Soot

D. Carborundum

Answer: D

° Watch Video Solution

147. Thermite is a mixture of iron oxide and

A. Sodium shavings

B. Aluminium powder

C. Zinc powder


https://dl.doubtnut.com/l/_XpYOKuQHwzzk
https://dl.doubtnut.com/l/_pFHq2d9EDqa7

D. Potassium metal

Answer: B

° Watch Video Solution

148. Which one of the following statements is

not correct with respect to BF3 ?

A. it is an electron deficient compound

B. It is a lewis acid

C. It is an ionic compound


https://dl.doubtnut.com/l/_pFHq2d9EDqa7
https://dl.doubtnut.com/l/_JIMqHaleEXPT

D. It forms adducts

Answer: C

o Watch Video Solution

149. The gas that is used for sterilising water is

A. 50,

B. NO,

C.0,

D. NH,


https://dl.doubtnut.com/l/_JIMqHaleEXPT
https://dl.doubtnut.com/l/_qncOiXIAJn8i

Answer: C

o Watch Video Solution

150. BF; forms an adduct with NH3 because

A. Nitrogen has high electronegativity

B.Boron has smaller atomic radius than

nitrogen

C.Boron has an empty 'p' orbital and

nitrogen has a lone pair of electrons


https://dl.doubtnut.com/l/_qncOiXIAJn8i
https://dl.doubtnut.com/l/_b64yQQmMQh8H

D. Boron has electropositive character

Answer: C

° Watch Video Solution

151. The crystalline form of sulphur that is

stable at room temperature is

A. Engel's sulphur

B. Rhombic sulphur

C. Monoclinic sulphur


https://dl.doubtnut.com/l/_b64yQQmMQh8H
https://dl.doubtnut.com/l/_1juH3KRyWG83

D. Plastic sulphur

Answer: B

° Watch Video Solution

152. Bleaching action of chlorine in presence of

moisture is an example of

A. Oxidation

B. Reduction

C. Displacement


https://dl.doubtnut.com/l/_1juH3KRyWG83
https://dl.doubtnut.com/l/_jZ6NBEjuSXCF

D. Substitution

Answer: A

° Watch Video Solution

153. In the electrolysis of HF-KF mixture for the

production of fluorine, the role of KF is

A.To lower the oxidation potential of

fluoride

B. To make HF a conducting solution


https://dl.doubtnut.com/l/_jZ6NBEjuSXCF
https://dl.doubtnut.com/l/_MTT538wGigbY

C.se corrosion

D. To lower the solubility of fluorine

Answer: B

o Watch Video Solution

154. In the reaction,
NO, + OCl — NO; + Cl™, the oxidation

state of chlorine

A. Does not change


https://dl.doubtnut.com/l/_MTT538wGigbY
https://dl.doubtnut.com/l/_IhHhodGeuwAa

B. Changes from +1 to -1

C. Changes from -2 to -1

D. Changes from O to -1

Answer: B

o Watch Video Solution

155. Meta-phosphoric acid is represented by

A. Hy PO

B. H, PO


https://dl.doubtnut.com/l/_IhHhodGeuwAa
https://dl.doubtnut.com/l/_Ht7bNcBI974n

C. HPO,

D. H,P,O-

Answer: C

° Watch Video Solution

156. In which of the following, sulphur has the

lowest oxidation state?

A. H,50,

B. SO,


https://dl.doubtnut.com/l/_Ht7bNcBI974n
https://dl.doubtnut.com/l/_yRiu3LG6VJXG

C. H,504

D. HyS

Answer: D

° Watch Video Solution

157. The catalyst used in the manufacture of

sulphuric acid by contact process is

A. Al,O4

B. C’I"203


https://dl.doubtnut.com/l/_yRiu3LG6VJXG
https://dl.doubtnut.com/l/_d3iN2MSKnn6o

C. V505

D. HyS

Answer: C

° Watch Video Solution

158. The rare gas which is more abundant in

atmosphere is

A. Ne

B.RNn


https://dl.doubtnut.com/l/_d3iN2MSKnn6o
https://dl.doubtnut.com/l/_UF0DoZZiBdoD

C. Xe

D. Ar

Answer: D

° Watch Video Solution

159. The oxidation number of chlorine in

KClOg IS

A +5


https://dl.doubtnut.com/l/_UF0DoZZiBdoD
https://dl.doubtnut.com/l/_r1uhWU77Y1kP

C.+1

Answer: A

° Watch Video Solution

160. The melting point of diamond is very high

since the type of bonding in it is

A. Two dimensional network

B. Metallic


https://dl.doubtnut.com/l/_r1uhWU77Y1kP
https://dl.doubtnut.com/l/_jPJ1FO1XXX9I

C. Covalent coordinate

D. Three dimensional giant network

Answer: D

o Watch Video Solution

161. The chemical formula of bleaching powder

is

A. CCLOz Cl

B. Ca(OCI)Cl


https://dl.doubtnut.com/l/_jPJ1FO1XXX9I
https://dl.doubtnut.com/l/_jGfOGUeAU9xO

C. Al

D. CCLClz

Answer: B

° Watch Video Solution

162. Bauxite is a mineral for the extraction of

A.Ca

B.Cu

C. Al


https://dl.doubtnut.com/l/_jGfOGUeAU9xO
https://dl.doubtnut.com/l/_OKHkhIj2Mrft

D. Fle

Answer: C

o Watch Video Solution

163. Qhwn NH,NOs is heated, the gas formed

IS

A. N,

B. NO,

C. N>,O


https://dl.doubtnut.com/l/_OKHkhIj2Mrft
https://dl.doubtnut.com/l/_yPe2dEx5U8fe

D. NH,

Answer: C

o Watch Video Solution

164. In diborane,

undergoes _ hybridisation.

boron

atom


https://dl.doubtnut.com/l/_yPe2dEx5U8fe
https://dl.doubtnut.com/l/_ZORpQJAZ9jV5

D. dsp’

Answer: A

° Watch Video Solution

165. Which of the following statements about

halogens is correct?

A.They are all distomic and form universal

ions


https://dl.doubtnut.com/l/_ZORpQJAZ9jV5
https://dl.doubtnut.com/l/_aym1RMI3dUkO

B.They are all dioatomic and form

divalentions

C. They are all capable of exhibiting several

oxidation states

D. They can mutually displace each other

from the solution of their compounds

with metals

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_aym1RMI3dUkO
https://dl.doubtnut.com/l/_lCgup4v29ihG

166. Which of the following oxides of nitrogen

is anhydride of HNO3 ?

A. N,O4

B. N2O4

C. N,O5

D. N,O

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lCgup4v29ihG
https://dl.doubtnut.com/l/_EOF6S7dguX0j

167. The non-metallic element present in the

mineral cryolite is,

A. Na

B. Al

C.F

D. Mg

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_EOF6S7dguX0j

168. Among the S50,, H,50O, and sodium

thiosulphate, sulphur has the highest

oxidation state in

A. 50,

B. H,S0,

C. Sodium thiosulphate

D. Same in all

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zTw6Jeat0iMN

169. Besides Si0y and Al;Os, the other major

ingredient in portland cement is

A. CGCOg

B. M9003

C.Lime

D. Sodium peroxide

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_rn5Ve3XMVzzV

1. Identify the most acidic oxide among the
following oxides based on their reaction with

water

A. 503
B. P4010
C.Cl,O-

D. N>Os

Answer: C



https://dl.doubtnut.com/l/_22cYQsQeock6

\ o Watch Video Solution

2. identify the correct statement

A. Lead forms compounds in +2 oxidation

state due to inert pair effect

B.All halogens form only negative

oxidation

C. Catenation property increases from

boron to oxygen

D. Oxygen oxidation state is -1 in ozonides.


https://dl.doubtnut.com/l/_22cYQsQeock6
https://dl.doubtnut.com/l/_sGzkaJ9NGVoI

Answer: A

o Watch Video Solution

3. Assertion (A): Noble gases have very low
boiling points.
Reason (R): All noble gases have general

electronic configuration of ns*np® (except He).

A.Both (A) and (R) are true and (R) is
correct explanation of (A)

B. (A) is false but (R) is true


https://dl.doubtnut.com/l/_sGzkaJ9NGVoI
https://dl.doubtnut.com/l/_EE5YjsPmZEpB

C. (A) is true but (R) is false

D. Both (A) and (R) are true but (R) is not

the correct explanation of (A)

Answer: D

o Watch Video Solution

4. Which one of the following is correct with

respect to basic character?

A.P(CHs), > PHj


https://dl.doubtnut.com/l/_EE5YjsPmZEpB
https://dl.doubtnut.com/l/_zlW6w9FskaFy

B. PH; > P(CHj3),

C.PH; > NH;
D. PH3 — NH3
Answer: A

o Watch Video Solution

5. Sea divers use a mixture of

A.Os, N,

B.Og, H2


https://dl.doubtnut.com/l/_zlW6w9FskaFy
https://dl.doubtnut.com/l/_SmaNHMfVHQUa

C. 02, He

D. N, H,

Answer: C

° Watch Video Solution

6. Which one of the following elements does

not form triiodide on reacting with iodine ?

A.B

B. Tl


https://dl.doubtnut.com/l/_SmaNHMfVHQUa
https://dl.doubtnut.com/l/_v010GOf4JnoF

C. Al

D. Ga

Answer: B

o Watch Video Solution

7. The buffer system which helps to maintain

the pH of blood between 7.26 to 742 is

A Hy,CO3 /HCO;

8. NH,OH / NH,Cl


https://dl.doubtnut.com/l/_v010GOf4JnoF
https://dl.doubtnut.com/l/_MFOWJKYIysJu

C. CH3;COOH | CH3CO0 _

D. CH;COONH,

Answer: A

o Watch Video Solution

8. The key step in the manufacturing of

H,50, by contact process is

A. Absorption of SO5; in Hy50, to give

oleum


https://dl.doubtnut.com/l/_MFOWJKYIysJu
https://dl.doubtnut.com/l/_HrOjtRdTGSi7

B. dilution of oleum with water

C.Burning of sulphur in air to generate

SO,

D. Catalytic oxidating of SOy with Oy to

give SO;

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_HrOjtRdTGSi7

9. Ammonia on reaction with chlorine forms an

explosive NCl3. What is the mole ratio of

NHj and Cl, required for this reaction?

A 8:3

B.1:1

C.1:3

D.10:1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jctCHVWRzZxz

10. The structure of XeOF} is

A. Trigonal bipyramidal

B. Square planar

C. Square pyramidal

D. Pyramidal

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SDEA3Ha0KZ7y

1. Which one of the following correctly
represents the variation of electronegativity
(EN) with atomic number (Z) of group 13

elements?


https://dl.doubtnut.com/l/_mS2MWPbm4B4J

Answer: D

° Watch Video Solution

12. Which one of the following elements reacts

with steam?

A.C

B. Ge


https://dl.doubtnut.com/l/_mS2MWPbm4B4J
https://dl.doubtnut.com/l/_5T3mmrmx0rkw

C.Si

D. Sn

Answer: D

o Watch Video Solution

13. Which one of the following elements on
doping with germanium, make it a p-type

semiconductor ?

A. Bi


https://dl.doubtnut.com/l/_5T3mmrmx0rkw
https://dl.doubtnut.com/l/_8zhrajtr4Vwq

B. Sb

C. As

D. Ga

Answer: D

o Watch Video Solution

14. Diborane reacts with HCl in the present of

AlCl; and liberates

A. H,


https://dl.doubtnut.com/l/_8zhrajtr4Vwq
https://dl.doubtnut.com/l/_iBGV0vJt1nkr

B.Cl,

C. BCl,

D. Cl2 and BClg

Answer: A

o Watch Video Solution

15. Which one of the following is not correct?

A. Pyrophosphoric acid is atetrabasic acid


https://dl.doubtnut.com/l/_iBGV0vJt1nkr
https://dl.doubtnut.com/l/_oCJCTCo1C2l0

B. Pyrophosphoric acid contains P-O-P

linkage

C. Pyrophosphoric acid contains two P-H

bonds

D. Orthosphoric acid can be prepared by

dissolving P,O1q in water

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_oCJCTCo1C2l0

16. Na,S,0;5 reacts with moist Cly to form

Na,S04, HCl and X. which one of the

following is X?

A.Hy,S

B. 5O,

C.SO;3

D. S

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Udghsdp4mFzi

17. The role of copper diaphragm in Whytlaw-

Gray's method is

A. Preventing the corrosion of electrolytic

cell

B. preventing the mixing of Hy and Fy

C. As anode

D. As cathode

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6A37SIs9FJ46

18. Liquid X is used is bubble chamber to

detect neutral mesons and gamma photons.

Then, X is

A. He

B. Ne

C.Kr

D. Xe

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6A37SIs9FJ46
https://dl.doubtnut.com/l/_JJKf5CC2fItX

19. Which of the following cannot form an

amphoteric oxide?

A. Al

B. Sn

C.Sb

D.P

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_JJKf5CC2fItX
https://dl.doubtnut.com/l/_2uzpfLo7lWqH

20. The catalyst and promoter respectively

used in the Haber's process of inddustrial

synthesis of ammonia are

A. MO, V504

B. ‘/205, Fe

C.Fe, Mo

D. Mo, Fe

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FHKN4ov91Fdu

21. What is Z in the following reactions?

methylation

Cu— Al
BCl3+H2LE>X+HCl X— 7
450°

A. (CH3)2BH2
B. (CH3)4BQH2
C. (CH3)3BQH3

D. (CH3)632

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_AdfhvPDe7mWn
https://dl.doubtnut.com/l/_fGQT5pQqMm99

22. Which one of the following elements

reduces NaOH to Na?

A.Si

B.Pb

C.C

D. Sn

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fGQT5pQqMm99

23. Which one of the following used in the

preparation of cellulose nitrate?

A. KNO;

B. HNO;

C. KNO,

D. HNO,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kdivBaVRz8u7
https://dl.doubtnut.com/l/_pyKZgFRQzgvS

24. The oxoacid of sulphur which contains two

sulphur atoms in different oxidation state is

A. Pyrosulphurous acid

B. Hyposulphurous acid

C. Pyrosulphuric acid

D. Persulphuric acid

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_pyKZgFRQzgvS

25.Bond energy of Cly, Bry and I, follow the

order

A.Cly, > Bry > I,

B. Bry > Cly > I,

C.I, > Bry > Cl,

D.I, > Cly > Bry

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RM4zBfETHDfk
https://dl.doubtnut.com/l/_qDeYLiZIlkIy

26. Assertion (A): The boiling points of noble

gases increase from He to Xe.

Reason (R): the interatomic van der Wall's

attractive forces increases from He to Xe.

The correct answer is

A.Both (A) and (R) are true and (R) is

correct explanation of (A)

B. Both (A) and (R) are true, and (R) is not

the correct explanation of (A)

C. (A) is true but (R) is false

D. (A) is not true but (R) is true


https://dl.doubtnut.com/l/_qDeYLiZIlkIy

Answer: A

o Watch Video Solution

27. Which one of the following statements is

not correct?

A. Moissan boron is amorphous

B.The reaction between boron and

concentrated HNO; gives Ny


https://dl.doubtnut.com/l/_qDeYLiZIlkIy
https://dl.doubtnut.com/l/_1C4RYnE7pMM2

C. Amorphous boron on heating with

oxygen forms By0s.

D. Boron is a non-conductor of electricity

Answer: B

o Watch Video Solution

28. Which one of the following is a correct set?

A. Diamond, sp?

B. Graphite, sp®


https://dl.doubtnut.com/l/_1C4RYnE7pMM2
https://dl.doubtnut.com/l/_WcTTxjtezJrp

C. Diamond, sp

D. Graphite, sp®

Answer: D

o Watch Video Solution

29. The total number of o and m-bonds in

pyrophosphoric acid are respectively

A. 8,2

B. 10,2


https://dl.doubtnut.com/l/_WcTTxjtezJrp
https://dl.doubtnut.com/l/_y4Zg9M1s7kDv

C.12,2

D. 84

Answer: C

o Watch Video Solution

30. What are the products formed when moist

chlorine gas is reacted with hypo?

A. NCI,QSO4, S, HCI

B. NCLQSO3, S, HCI


https://dl.doubtnut.com/l/_y4Zg9M1s7kDv
https://dl.doubtnut.com/l/_ScWs0nrRIFjY

C. Na2S406, N&zSOg, HCI

D. NCL25406, N&Cl, HCI

Answer: A

° Watch Video Solution

31. What is the bond angle in C10,(OCIO) ?

A.90°
B.118°

C.105°


https://dl.doubtnut.com/l/_ScWs0nrRIFjY
https://dl.doubtnut.com/l/_pKkRI2VZB15l

D.111°

Answer: B

o Watch Video Solution

32.The hybridisation of Xe and the number of
lone pairs of electrons on it in XeFjy are

A spid? 1

B. sp>d3, 2

C.sp’d?, 2


https://dl.doubtnut.com/l/_pKkRI2VZB15l
https://dl.doubtnut.com/l/_Ku5Ebbw1ecdX

D. sp’d?, 1

Answer: D

o Watch Video Solution

33. Diborane reacts with ammonia under
different conditions to give a variety of
products. Which one among the following is

not formed in these reactions?

A B,Hg, 2N H,


https://dl.doubtnut.com/l/_Ku5Ebbw1ecdX
https://dl.doubtnut.com/l/_yDZUlVnLaQFd

B. Bl2H12
C. BgN3H6

D. (BN)

n

Answer: B

o Watch Video Solution

34. Which one of the following is the mineral

for tin?

A. Galena


https://dl.doubtnut.com/l/_yDZUlVnLaQFd
https://dl.doubtnut.com/l/_GXNycFhIS78v

B. Cerussite

C. Cassterite

D. Anglesite

Answer: C

o Watch Video Solution

35. The oxide of nitrogen formed by thermal

decoposition of NH,NQOs is

A.NO


https://dl.doubtnut.com/l/_GXNycFhIS78v
https://dl.doubtnut.com/l/_9dEpkRkEosTt

B. N;O

C. N,Os

D. NO,

Answer: B

o Watch Video Solution

36. Which one of the following is most acidic?

A.H,O

B. H,S


https://dl.doubtnut.com/l/_9dEpkRkEosTt
https://dl.doubtnut.com/l/_DID0VydZzQxK

C. H2T6

D. Hgse

Answer: C

o Watch Video Solution

37. Which one of the following is formed apart
from sodium chloride when chlorine reacts

with hot concentrated sodium hydroxide?

A. NaOCl


https://dl.doubtnut.com/l/_DID0VydZzQxK
https://dl.doubtnut.com/l/_Heda42PDWWFy

B. NG,OClg

C. NCLClOz

D. NCLCZO4

Answer: B

o Watch Video Solution

38. Helium mixed with oxygen is used in the

treatment of

A. Beri Beri


https://dl.doubtnut.com/l/_Heda42PDWWFy
https://dl.doubtnut.com/l/_i5nkjhWYObjx

B. Burning feet

C. Joints burning

D. Asthma

Answer: D

o Watch Video Solution

39. The number of pm — dm 'pi' bonds present
in XeO3 and XeO, molecules, respectively

are


https://dl.doubtnut.com/l/_i5nkjhWYObjx
https://dl.doubtnut.com/l/_SQq7hYmt9Ac2

A 34

B.4,2

C. 23

D. 3,2

Answer: A

o Watch Video Solution

40. The type of bonds present in sulphuric

anhydride are


https://dl.doubtnut.com/l/_SQq7hYmt9Ac2
https://dl.doubtnut.com/l/_SzIpdCzSsmzS

A.30 and three pr — dm

B. 30, 0ne pm — pm and two pr — dm

C. 20 and three pm — dm

D. 20 and two pm — dm

Answer: B

o Watch Video Solution

41. Which pair of oxyacids of phosphorus

contains 'P-H' bonds ?


https://dl.doubtnut.com/l/_SzIpdCzSsmzS
https://dl.doubtnut.com/l/_ppdu2MHIaEDG

A. H;PO,, H; PO;

B. H; PO5, H,P,O,

C. H;PO;, H3 PO,

D. H;PO,, HPOs

Answer: C

o Watch Video Solution

42. SiCly on hydrolysis forms 'X' and HCI.
Compound 'X' loses water at 1000°C' and

gives 'Y' compounds 'X' and 'Y' respectively are



https://dl.doubtnut.com/l/_ppdu2MHIaEDG
https://dl.doubtnut.com/l/_fNxW1l5HEddZ

A. H,S5iClg, 510,

B. H,510y, St

C. Si0,, Si

D. H4S’1:O4, S’LOQ

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_fNxW1l5HEddZ

43. Match the following

List 1 List IT
(A) Feldspar (I) [Ag,SbS ]
(B) Asbestos (II) A7,0,.H,O
(C) Pyrargyrite (1) MgSO, . H.O
(D) Diaspore (IV)KAIS1,0,

(V) CaMg,(Si0,),

The correct answer is

A. A-lV, B-V, C-lI, DAl

B. A-1V, B-V,C-1,D

C. A-IV,B-1,C-11L,D-

D. A-ll,B-V,C-IV,D-I


https://dl.doubtnut.com/l/_caTc6nKG1Bjn

Answer: B

o Watch Video Solution

44. Boron halides behave as Lewis acids

because of their nature.

A. Proton donor

B. Covalent

C. Electron deficient

D. lonising


https://dl.doubtnut.com/l/_caTc6nKG1Bjn
https://dl.doubtnut.com/l/_vejUoWNeROV1

Answer: C

o Watch Video Solution

45. Identify B in the following reaction

1000°C Carbon
H4SZO4 TO> A —> B+ CO
— 112

A. Corundum

B. Quartz

C.Silica

D. Carborundum


https://dl.doubtnut.com/l/_vejUoWNeROV1
https://dl.doubtnut.com/l/_rSlM1n8U3bBF

Answer: D

o Watch Video Solution

46. The correct oder of reducing abilities of

hydrides of V group elements is,

NH3 < PH3 < ASHg < Sng < B’LH3

NH3 > PH3 > ASHg > Sng > B’LH3


https://dl.doubtnut.com/l/_rSlM1n8U3bBF
https://dl.doubtnut.com/l/_c3o5UVTkH1BQ

NH3 < PH3 > ASH3 > Sng > B’LH3

Sng > B’LH3 > A8H3 > NH3 > PH3

Answer: A

o Watch Video Solution

47. The number of sigma and pi bonds in

peroxodisulphuric acid are, respectively.


https://dl.doubtnut.com/l/_c3o5UVTkH1BQ
https://dl.doubtnut.com/l/_Dtd6CxMm4B0Q

A.9 and 4

B.11and 4

C.4 and 8

D.4 and 9

Answer: B

° Watch Video Solution

48. Which one of the following reactions does

not occur?


https://dl.doubtnut.com/l/_Dtd6CxMm4B0Q
https://dl.doubtnut.com/l/_ucTRbxmFk6f7

A Fy +2C1~ — 2F~ + Cly
B.Cl, + 2F~ — 201~ + Fy
C. Na3 [Ag(5203)2}

D. Agg [Na(8203)2}

Answer: B

o Watch Video Solution

49, The formula of the product formed, when
sodium triosulphite solution is added to silver

bromide is


https://dl.doubtnut.com/l/_ucTRbxmFk6f7
https://dl.doubtnut.com/l/_7NuepaTnrzOa

A. A925203
B. AgQS
C. NCL3 [Ag(SzOg)ﬂ

D. Agg [Na(8203)2}

Answer: C

° Watch Video Solution

50. The chemical formula of deldspar is,

A. K AlSi3Oq


https://dl.doubtnut.com/l/_7NuepaTnrzOa
https://dl.doubtnut.com/l/_FR4ljQ26Qi08

B. Na,gAlFG
C. NCI,AlOQ

D. K,50,. Aly(SO,),.4Al(OH),

Answer: A

o Watch Video Solution

51. An oxide of an element is a gas and
dissolves in water to give an acidic solution.

The element belongs to,


https://dl.doubtnut.com/l/_FR4ljQ26Qi08
https://dl.doubtnut.com/l/_imc47fsYx04Y

A. Il group

B.IV group

C. VIl group

D. Zero group

Answer: B

o Watch Video Solution

52. Which one of the following noble gases is

used in miner's cap lamps?


https://dl.doubtnut.com/l/_imc47fsYx04Y
https://dl.doubtnut.com/l/_LD6wJIxDk8gw

A. Helium

B. Neon

C. Argon

D. Krypton

Answer: D

o Watch Video Solution

53. The following are some statements related
to VA group hydrides,

l. Reducing proeprty increases from NHj3 to


https://dl.doubtnut.com/l/_LD6wJIxDk8gw
https://dl.doubtnut.com/l/_DnsvKj6hQXPZ

BiHj,

ll. Tendency to donate lone pair decreases
from NH; to BiH;.

ll. Thermal stability of hydrides decreases
from NH; to BiH;.

IV. bond angle of hydrides decreases from

NH3 to B’LH3
A. LILIIT and IV
B.I, Il and IV
C.I,Iland IV

D.land IV


https://dl.doubtnut.com/l/_DnsvKj6hQXPZ

Answer: A

o Watch Video Solution

54. Which of the following is an example of

interstitial hydride?

A. NH,

B. CH,

C. Z’I’LHz

D. H,O


https://dl.doubtnut.com/l/_DnsvKj6hQXPZ
https://dl.doubtnut.com/l/_JY3vpt6q2diF

Answer: C

o Watch Video Solution

55. Which of the following is not a peroxy

acid?

A. Perphosphoric acid

B. pernitric acid

C. Perdisulphuric acid

D. Perchloric acid


https://dl.doubtnut.com/l/_JY3vpt6q2diF
https://dl.doubtnut.com/l/_VgVjy9dG3AVK

Answer: D

o Watch Video Solution

56. Calorific value of producer gas is low

because of

A. High percent of N,

B. Low percent of C'O,

C. High percent of CO

D. Low percent of N,


https://dl.doubtnut.com/l/_VgVjy9dG3AVK
https://dl.doubtnut.com/l/_GV4OhB7lBPii

Answer: A

o Watch Video Solution

57. Among the following, which is water

insoluble?

A. sodium fluoride

B. Potassium fluride

C. Beryllium floride

D. Magnesium flouride


https://dl.doubtnut.com/l/_GV4OhB7lBPii
https://dl.doubtnut.com/l/_hrgGwX0TOTca

Answer: D

o Watch Video Solution

58. Which of the following is used for making

optical instruments?

A. 510,

B. 5%

C.SiH,

D. SiC


https://dl.doubtnut.com/l/_hrgGwX0TOTca
https://dl.doubtnut.com/l/_aP5oKLCM6aY1

Answer: A

o Watch Video Solution

59. Which of the following is not correct?

Silent electric

A. 30, < > 205, AH = — 284.5kJ

discharge

B. ozone undergoes addition reaction with

unsaturated carbon compounds

C.Sodium thiosulphate reacts with I, to

form sodium tetrathionate and sodium


https://dl.doubtnut.com/l/_aP5oKLCM6aY1
https://dl.doubtnut.com/l/_ZmvufoDI90em

iodide

D. ozone oxidises lead sulphide to lead

sulphate

Answer: A

o Watch Video Solution

60. Electrolysis of X gives Y at anode. Vacuum
distillation of Y gives Hy0Os. The number of
peroxy (O-O_  bonds present in X and Y

respectively, are


https://dl.doubtnut.com/l/_ZmvufoDI90em
https://dl.doubtnut.com/l/_OsDYgGAWFyAH

A 1]

B. 1,2

C. 0,1

D. 0,0

Answer: C

° Watch Video Solution

61. What is the correct order of occurrence (%

by weight) in air of Ne, Ar and Kr?


https://dl.doubtnut.com/l/_OsDYgGAWFyAH
https://dl.doubtnut.com/l/_tMZgUKn29vSV

A.Ne > Ar > Kr

B. Ar > Ne > Kr

C.Ar > Kr > Ne

D. Ne > Kr > Ar

Answer: B

o Watch Video Solution

62. Observe the following statements:
l. Bleaching powder is used in the preparation

of chloroform.


https://dl.doubtnut.com/l/_tMZgUKn29vSV
https://dl.doubtnut.com/l/_CRFQgSfaNDrm

ll. Bleaching powder decomposes in the
presence of C'oCl, to liberate O,.
ll. Aqueous KHPF, is used is in the
preparation of fluorine.
The correct combination is

A. 1, Il and lll are correct

B. Only Il is correct

C.Only I and lll are correct

D.Only | and Il are correct

Answer: D

| 8


https://dl.doubtnut.com/l/_CRFQgSfaNDrm

63. Hydrolysis of NCl; gives NH3 and X.

which of the following is X?

A.HCIlO,

B. HCIO4

C. HOCI

D. HCIO,

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_CRFQgSfaNDrm
https://dl.doubtnut.com/l/_nVb3K2hNClFL

64. Which of the following reactions does not

liberate gaseous product?

A. AlClg + NaOH —

B. NaOH + P(white) + H,O —
A

C.Al + NaOH —

A
D.Zn + NaOH —

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nVb3K2hNClFL
https://dl.doubtnut.com/l/_cvvLfNlqq6bv

65. In Fischer-Ringe's method of separation of

noble gases mixture from air, ... Is used

A.90% CaCy 4+ 10 % CaCl,

B. coconum charcoal

C. Soda lime+Potash solution

D.90% CaCO3 + 10 % urea

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Aj7OXxEoM3Nt
https://dl.doubtnut.com/l/_s8mNk2dmMqf6

66. Observe the following statements
regarding purification of bauxite.

l. During Hall's producess, silica is removed as
Si (vapour).

ll. Bauxite ore contaminated with Fe;Os3 is
purified by Baeyer's process.

lll. During Serpeck's process. AIN is formed.

The correct answer is

A. 1, Il and Ill are correct

B. Only I and Il are correct

C.Only I and Il are correct


https://dl.doubtnut.com/l/_s8mNk2dmMqf6

D. Only Il and Il are correct

Answer: D

° Watch Video Solution

67. Which one of the following reactions does

not form gaseous product?

A. Pb02 + H202 —

B. Acidified KMnO,4 + H,Oy9 —


https://dl.doubtnut.com/l/_s8mNk2dmMqf6
https://dl.doubtnut.com/l/_w0EmLySnevCE

D. Clz + H2O2 —

Answer: C

° Watch Video Solution

68. Which of the following is not correct?

A. 510, is used as acid flux
B.the distance betweenthe layers in

graphite is 3.35 x 10~ %cm


https://dl.doubtnut.com/l/_w0EmLySnevCE
https://dl.doubtnut.com/l/_gYGTFNya7gVf

C. 8104 reacts with Na,C O3 and liberates
CcO

D. The hybridisation of C in graphite is sp

Answer: C

o Watch Video Solution

69. Which of the following is not correct?

A. Ammonia is used as refrigerant


https://dl.doubtnut.com/l/_gYGTFNya7gVf
https://dl.doubtnut.com/l/_BADLX1r7eXdY

B. A mixture of C'a(CN), and C is known
as nitrolim

C.A mixture of
Ca(H,PO,), and CaS0O4.2H,0 is
known as super phosphoate is lime

D. Hydrolysis of NC'3 gives N H3 and HOCI

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BADLX1r7eXdY

70. Which of the following is not correct?

A.lodine oxidses sodium thiosulphate to

sodium tetrathionate

B. Sodium thiosulphate is soluble in water

C.Ozone is used to identify the present of

unsaturation is alkenes

D. Sodium thiosulphate reacts with iodine

to form sodium sulphate

Answer: D



https://dl.doubtnut.com/l/_Dn0S8w2ZzN9W

‘ o Watch Video Solution

71. Which one of the following pairs of
reactants does not form oxygen, when they
react with each other ?

A. F5, NaOH solution (hot, conc)

B. 5, H,O

C.Cly, NaOH solution (cold, dilute)

D. CaOCl,, H,50 (dilute, small amount)

Answer: C


https://dl.doubtnut.com/l/_Dn0S8w2ZzN9W
https://dl.doubtnut.com/l/_PdZxGJxhqm3N

° Watch Video Solution

72. The number of oxygen atoms bonded to

one phosphorus atom is P, is

A4

B.3

C.6

D.5

Answer: B

| 8 l


https://dl.doubtnut.com/l/_PdZxGJxhqm3N
https://dl.doubtnut.com/l/_GU0KaqRnz1y2

73. Which of the following has S-S bond?

A. H2S20()'

B. H,S,0-

C. Hy5,04

D. mustard gas

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GU0KaqRnz1y2
https://dl.doubtnut.com/l/_8kMzSCEot1k7
https://dl.doubtnut.com/l/_HL6GiyyZ1lFU

74. Which one of the following is used as an

acid flux in metallurgy?

A. CaO

B. 570,

C. Na2003

D. SOs.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_HL6GiyyZ1lFU
https://dl.doubtnut.com/l/_ZZU50HlUt2mx

75. Which one of the following is correct about

stability of the given ions?

A Pyt > Pyt

B.Pb*t > Pyt

C. 93T > g4

D.Sn*t > Sn3 ™

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ZZU50HlUt2mx

76. The product obtained at anode when 50%
H,50, aqueous solution is electrolysed using

platinum electrodes, is

A. H,SO4

B. H, 5,05

C. O,

D. H,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_EUP7rsdXsVJK

77.Sulphur trioxide is dissolved in heavy water
to form a compound X. The hybridisation state

of sulphur X'is

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3ToObGFE2iLa

78. Two oxides of nitrogen, NO and NO, react
together at 253 K and form a compound of
nitrongen, X. X reacts with water to yield
another compound of nitrogen Y. the shape of
the anion of Y molecule is

A. Tetrahedral

B. Triangular planar

C. Square planar

D. Pyramidal

Answer: B


https://dl.doubtnut.com/l/_JUj3h4Zs3Dcn

° Watch Video Solution

79. Chlorine atom, ini its third excited state,

react with fluorine to form compound X. the

formula and shape of X are

A. ClF5, pentagonal

B. ClF}, tetrahedral

C. ClF}, pentagonal bipyramidal

D. ClF;, pentagonal bipyramidal

Answer: D


https://dl.doubtnut.com/l/_JUj3h4Zs3Dcn
https://dl.doubtnut.com/l/_g2izVXmsM9i6

° Watch Video Solution

80. The bond energies (in kJ mol_l) of P-H, as-
H and N-H are respectively.

A. 247,389 and 318

B. 247,318 and 389

C. 318,389 and 247

D. 318,347 and 389

Answer: D

| 8 l


https://dl.doubtnut.com/l/_g2izVXmsM9i6
https://dl.doubtnut.com/l/_NzdYQtFIneVt

81. Which one of the following statements is
correct with respect to basic character?
A.PH; > P(CHs),
B. PH3 — NH3
C.PH3; > NHj

D. P(CH;), > PH,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NzdYQtFIneVt
https://dl.doubtnut.com/l/_Ryd9eNeDY6Ls

82. What are the products formed when

ammonia reacts with excess chlorine ?

A. N2 and NClg

B.NCl3 and HCI

C. N2 and NH4Cl

D. N, and HCI

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Ryd9eNeDY6Ls
https://dl.doubtnut.com/l/_tIbukuNcef1Y

83. One mole of fluorine reacted with two
moles of hot concentrated KOH. The products
formed are KF, H,O and O,. Themolar ratio of
KF, H,O and O, respectively is

Al:1:2

B.2:1:0.5

C.1l:2:1

D.2:1:2

Answer: B

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_1yU1PYXkikaz

84.Which one of the following is a correct pair
with respect to molecular formula of xenon
compound and hybridisation state of xenon in
it?

A. XeF,, sp’

B. XeF), sp

C. XeF,, sp°d

D. XeF}, sp


https://dl.doubtnut.com/l/_1yU1PYXkikaz
https://dl.doubtnut.com/l/_wpgD74er2d3N

Answer: C

o Watch Video Solution

85. When bauxite powder is mixed with coke
and reacted with nitrogen at 2075 K, carbon
monoxide and X are formed. What is the gas

formed when X is reacted with water?

A. NH,

B. IV,

C. N;O


https://dl.doubtnut.com/l/_wpgD74er2d3N
https://dl.doubtnut.com/l/_lVWtoBK1BFuC

D. O,

Answer: A

o Watch Video Solution

86. Thermite is a mixture of X parts of ferric

oxide and Y parts of aluminium powder. X, Y

respectively, are

A. 3,

B. 3,2


https://dl.doubtnut.com/l/_lVWtoBK1BFuC
https://dl.doubtnut.com/l/_SC0VtGzqpUz0

C. 1,1

D. 2,3

Answer: A

° Watch Video Solution

87. What is the molecular formula of borazole

A B, H;

B. By N H


https://dl.doubtnut.com/l/_SC0VtGzqpUz0
https://dl.doubtnut.com/l/_oS319nl7LbIf

C. B3N3H6

D. BN, H;

Answer: C

o Watch Video Solution

88. The catenation tendency of C, Si and Ge is
in the order Ge < St < C.The bond energies
(in k] mol 1) of C-C, Si-Si and Ge-Ge bonds,

respectively, are


https://dl.doubtnut.com/l/_oS319nl7LbIf
https://dl.doubtnut.com/l/_U7dggx4AUuG6

A. 167180348

B. 180167348

C. 348167180

D. 348180167

Answer: D

o Watch Video Solution

89. What are the products formed when
chlorine is passed through aqueous hypo

solution?


https://dl.doubtnut.com/l/_U7dggx4AUuG6
https://dl.doubtnut.com/l/_In4gSlyupb9O

A.NaySO3 + HClL + S

B. NCLQSO?, + SOg + HCI

D. NaySO4 + HCU + SO,

Answer: C

o Watch Video Solution

90. Which of the following order is correct for

the bond energies of halogen molecules?


https://dl.doubtnut.com/l/_In4gSlyupb9O
https://dl.doubtnut.com/l/_nMEPQ5BNkIqn

A. I, > Cly > Brg

B.Bry > Cly > I,

C.Cly > Bry > I

D.I, > Bry > Cl,

Answer: C

o Watch Video Solution

91. Which one of the following halogens
liberates oxygen, when passed through hot

concentrated KOH solution?


https://dl.doubtnut.com/l/_nMEPQ5BNkIqn
https://dl.doubtnut.com/l/_CByDGgYpnZiI

AT,

B. Cl,

C. B’I“z

D. F,

Answer: C

o Watch Video Solution

92. Bond dissociation energies of HF, HCI, HBr

follow the order


https://dl.doubtnut.com/l/_CByDGgYpnZiI
https://dl.doubtnut.com/l/_CvzqrTTb0aiZ

A .HCl > HBr > HF

BHF > HBr > H(CI

CHF > HCl > HBr

D.HBr > HCl > HF

Answer: C

o Watch Video Solution

93. What are the oxidation number of nitrogen

in NH4N03?


https://dl.doubtnut.com/l/_CvzqrTTb0aiZ
https://dl.doubtnut.com/l/_CwkOGrm0hvZ0

D.+2, + 2

Answer: B

o Watch Video Solution

94. Which of the following is a sulphide ore?

A. Calamine


https://dl.doubtnut.com/l/_CwkOGrm0hvZ0
https://dl.doubtnut.com/l/_8I47dGdlYPuz

B. Cryolite

C. Zinc blende

D. Haematite

Answer: C

o Watch Video Solution

95. Which of the following is the strongest

oxidising agent?

A F,


https://dl.doubtnut.com/l/_8I47dGdlYPuz
https://dl.doubtnut.com/l/_DygAlEBwNeim

B. B’I"g

c. Cl,

D. O,

Answer: A

o Watch Video Solution

96. What is the oxidation state of chlorine in

hypochlorous acid?

A +1


https://dl.doubtnut.com/l/_DygAlEBwNeim
https://dl.doubtnut.com/l/_2aNzcSZd5U1j

B. +3

C.+5

D.+7

Answer: A

o Watch Video Solution

97. What is the «catalyst used in the
manufacture of sulphuric acid by contact

process?


https://dl.doubtnut.com/l/_2aNzcSZd5U1j
https://dl.doubtnut.com/l/_AlZHOVjAVNz8

A. Nickel powder

B. Platinised asbestos

C. Anhydrous Al30;

D. Aluminium powder

Answer: B

o Watch Video Solution

98. Which of the following reacts with BCl;3 to

form diborane?


https://dl.doubtnut.com/l/_AlZHOVjAVNz8
https://dl.doubtnut.com/l/_1bw9uY9McHTt

A NH,

B. Li ALH,

C. NaHg

D. KQC’PQO7

Answer: B

o Watch Video Solution

99. During Serpeck's process, silica s

eliminated as


https://dl.doubtnut.com/l/_1bw9uY9McHTt
https://dl.doubtnut.com/l/_gClyz3X3r4at

A. Si (solid)

B. 5205 (vapour)

C. 510, (solid)

D. Si (vapour)

Answer: D

o Watch Video Solution

100. What is the molecular formula of white

phosphorus?


https://dl.doubtnut.com/l/_gClyz3X3r4at
https://dl.doubtnut.com/l/_Mzk0iMOxMX7L

A P,

B. P,

D. P16

Answer: B

o Watch Video Solution

101. Which of the following is an acid?

A.Ca(OH),


https://dl.doubtnut.com/l/_Mzk0iMOxMX7L
https://dl.doubtnut.com/l/_MsYEddHosYIH

B. P(OH),
C. NH,OH

D. NaOH

Answer: B

o Watch Video Solution

102. What is the approximate calorific value of

water gas in kcal m 3 ?

A. 500


https://dl.doubtnut.com/l/_MsYEddHosYIH
https://dl.doubtnut.com/l/_zzWh9GNd4glT

B. 2700

C. 4000

D. 1000

Answer: B

o Watch Video Solution

103. Which of the following is used in the

preparation of aerated water (soda) ?

A.CO


https://dl.doubtnut.com/l/_zzWh9GNd4glT
https://dl.doubtnut.com/l/_hYWOqd7iTwVV

B.CO,

C. SO,

D. HCI

Answer: B

o Watch Video Solution

104. Which one of the VI group element has

the highest catenation power?

A.O


https://dl.doubtnut.com/l/_hYWOqd7iTwVV
https://dl.doubtnut.com/l/_jzfHEzi4j0IE

B. Se

C.S

D. Te

Answer: C

o Watch Video Solution

105. Which of the following is not true?

A. Aluminium liberates hydrogen on

treating with a base


https://dl.doubtnut.com/l/_jzfHEzi4j0IE
https://dl.doubtnut.com/l/_42QHrHIwReja

B. Aluminium is used in the preparation of

duralumin

C.aluminium is extracted by the

electrolysis of alumina in presence of

cryolite

D. Aluminium is a strong oxidising agent

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_42QHrHIwReja

106. The industrial preparation of nitric acid by

Ostwald's process involves ?

A. Reduction of NHj

B. Oxidation of NHj

C. Hydronegation of N Hj

D. Hydrolysis of NHj

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_z3VWn3q1Feie
https://dl.doubtnut.com/l/_7axBk5voXS3p

107. In which of the following reactions ozone

acts as a reducing agent?

A. BCLOQ + 03 — BaO + 202

B.2HCl + O3 — Cly + H,0 + O,

C. PbS + 405 — PbSO, + 40,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7axBk5voXS3p
https://dl.doubtnut.com/l/_pgDMbmIiOzdJ

108. Which of the following is the weakest acid

in its aqueous solution ?

A. H2T€

B. HgSG

C. H,S

D. HQPO

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_pgDMbmIiOzdJ
https://dl.doubtnut.com/l/_7wssQ3OO3Og4

109. Inorganic benzene contains

A. CHAI

B.CH,B

C. B,N,H

D. CN,H

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_7wssQ3OO3Og4

110. Which of the following in the anhydride of

HNO;?

A.NO

B. N,O3

C. N204

D. N3O

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_VL8iFL4W9tko
https://dl.doubtnut.com/l/_Z3x5fuhCfROO

111. Chlorine is passed into dilute cold KOH

solution. What are the oxidation numbers of

chlorine in the products formed ?

A—1, +5

B.—1, +3

C.+1, +7

D.—1, +1

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Z3x5fuhCfROO
https://dl.doubtnut.com/l/_UfDTSE31ABzU

112. The oxidation number of nitrogen in H N3

is

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_UfDTSE31ABzU

113. Tin store is contaminated with wolframite.

Which one of the following methods can be

employed to dress the tin stone ore?

A. Levigation

B. Electromagnetic separation

C. Floatation process

D. Roasting

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XyfPr4bGHzD8

114. Which one of the following can be used as

an anaesthetic ?

A. N,O

B.NO

C. NCl;

D. NO,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_25awzHlJvAA6
https://dl.doubtnut.com/l/_C4vPRLWPa2Ia

115. Hg sticks to the surface of the glass, when

it comes in contact with

A. H,O

B. HNO;

C. Grease

D. Oj

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_C4vPRLWPa2Ia

116. Cassiterite is concentrated by

A. Levigation

B. Electromagnetic separation

C. Floatation

D. Liquation

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uZIh6ftzUPOS

117. Carbogen is

A. Pure form of carbon

B. COC,

C. Mixture of CO and C'O,

D. Mixture of Oy and CO,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_A7Y8hSHgTOev

118. Silica is soluble in

A.HCI

B. HNO;

C. H,50,

D.HF

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_27NLM9cGFP42

119. Which one of the following halogens does

not exhibit positive oxidation state in its

compounds?

Al

B. Br

C.Cl

D. F

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_p9EKqj7Y0S3A

120. Which one of the following ores is

chloride?

A. Horn silver

B. Zincite

C. Bauxite

D. Feldspar

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Mlf1Ftnt2pMA
https://dl.doubtnut.com/l/_1dqtZUZY2MXd

121. Which of the following sequence is correct

with reference to the oxidation number of

iodine?

A l, > Icl < HI < HIO,

B.HIO, < ICl < ILHI

C.IL, < HI < IClI < HIO,

D.HI < I, < ICl < HIO,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1dqtZUZY2MXd
https://dl.doubtnut.com/l/_Cw2X84z7Pigu

122. Quartz is a crystalline variety of

A. Sodium silicate

B. silicon carbide

C.silicon

D. silica

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Cw2X84z7Pigu

123. Which one of the following compounds

liberates CO, from aqueous NaHCQO3?

A. Aluminium chloride

B. CHCl;

c.CCl,

D. CH,ClI

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_aOBkRTHZAjol
https://dl.doubtnut.com/l/_M04rWXnOX5KC

124. The bond angle of Hy X (where, X is a

sixth group element), as one goes down the

group

A. Increases

B. Decreases

C. Does not change

D. Changes irregularly

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_M04rWXnOX5KC
https://dl.doubtnut.com/l/_A9xvH6HmuNdp

125. With respect to both oxygen and ozone,

which one of the following statements is not

correct?

A. both have similar reactivity with water

B.Oxygen is colourless and ozone is

coloured

C. Oxygen valency is 2 in both

D. Oxygen has 2 bonds and ozone has 3

bonds

Answer: C


https://dl.doubtnut.com/l/_A9xvH6HmuNdp

° Watch Video Solution

126. The element which can displace three

other halogens from their compounds is

A. Cl

B. Br

C.1

D.F

Answer: D

| 8 l


https://dl.doubtnut.com/l/_A9xvH6HmuNdp
https://dl.doubtnut.com/l/_kFzxPNwr13Mi

127. Bleaching action of SO, is due to its

A. Oxidising action

B. Ability to hydrolyse

C. Acidic nature

D. Reducing action

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_kFzxPNwr13Mi
https://dl.doubtnut.com/l/_kh5j2P8bzCA2
https://dl.doubtnut.com/l/_vCyzehoSNPLq

128. The molecular formula of cryolite is

A.3 NaF, AlF3

B. AlF,

C. 3NaF, AlF3

D. NaF, AlF,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vCyzehoSNPLq

129. Silver containing lead as an impurity is

removed by

A. Poling

B. Cupellation

C. Levigation

D. Distillation

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7JCnr6UycT6k
https://dl.doubtnut.com/l/_KjMtqJM71YJS

130. The chemical formula of diaspore, an ore

of aluminium is

A. Al,O3, 3H50

B. Al,O3, 2H,0

C. Al,Os, H,O

D. Al,O4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KjMtqJM71YJS

131. The inerrt form of carbon is

A. Diamond

B. Graphite

C. Coal

D. Charcoal

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vnu58LDfdQpZ

132. Which of the following is not a peroxide ?

A. Na202

B. BCLOQ

C. CTO5

D. PbO,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_gTInvMuh2tpq

133. The glass which contains PbO mainly is

A. Soda glass

B. Flint glass

C. Pyrex glass

D. Borosil

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tmyRSkqXtZXk

134. Which of the following nitrogen halides is

most stable?

A NI,

B. NB’I°3

C. NCl;

D. NF,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YwLLaRksca2w
https://dl.doubtnut.com/l/_hP9E3sEaWxki

135. The following statement is not true as far

as BFj3 is concerned

A. Electron deficient compound

B. Lewis acid

C. lonic compound

D. Covalent compound

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hP9E3sEaWxki

136. The oxy acid of phosphorus in which

phosphorus has the lowest oxidation state is

A. Hypophosphorus acid

B. Orthophoshoric acid

C. Pyrophosphoric acid

D. Metaphosphoric acid

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_W5Qh21C7Smgz
https://dl.doubtnut.com/l/_zIIuLUKetETm

137. The chief product of electrolysis of Al;O;

at the anode in the Hall's process is

A. H,

B. Na

C. AlF,

D. O,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_zIIuLUKetETm

138. Ordinar glass is a combination of the

following

A. S’I:Og, NCL2S’I:03, CCLSZOg

B. S’I:Og, Na2003, CCLCO3

C. NaQCOg, K2CO3, S’LOQ

D. S’I:Og, PbCOg, CCLS’LOg

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CP6VlOtzoXZe
https://dl.doubtnut.com/l/_RfrsJLFmcHq2

139. Which of the following is correct with

respect to Vth group elements?

A. All the elements exhibit allotropy

B. allotropy

C.all the elements except nitrogen and

bismuth exhibit allotropy

D. All the elements except nitrogen and

arsenic exhibit allotropy

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_RfrsJLFmcHq2

140. Catalyst used in the

HNQOj in ostwald process is

A. Platinum gauze
B. V5,03
C.Fe /Mo

D. M’I’LOQ

Answer: A

manufacture of

o Watch Video Solution



https://dl.doubtnut.com/l/_RfrsJLFmcHq2
https://dl.doubtnut.com/l/_xcb0HpQ14ol5

141. Which of the following is paramagnetic?

A. N,O,

B. NO

C. Ny,O3

D. N,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xcb0HpQ14ol5
https://dl.doubtnut.com/l/_xlcEVBqwgg1D

142. Preparation of fluorine by direct

electrolysis of liquid HF is not practicable

because

A. very high temperature is needed

B. Electrolytic products are different from

fluorine

C. Very low temperature is required

D. HF is a non-electrolyte

Answer: B

Y. |


https://dl.doubtnut.com/l/_aTs34oESxDcM

l @ VWatch vVideo Solution

143. The oxidation state of iodine in ICI, is

A +1

Answer: A

O Watch Video Solution



https://dl.doubtnut.com/l/_aTs34oESxDcM
https://dl.doubtnut.com/l/_GCP75O0lNFsk
https://dl.doubtnut.com/l/_blp9GlPRcHw1

144. When 6 volumes of oxygen undergoes

complete reaction to ozone, the number of

moles of ozone formed are

A 6

B.3

C.4

D. 2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_blp9GlPRcHw1

145. While phosphorus forms PCls, nitrogen

does not form NCl5 because

A. Nitrogen is more electronegative than

phosphorus

B. Nitrogen atom is smaller than

phosphorus

C.The ionisation energy of nitrogen is

greater than that of phosphorus


https://dl.doubtnut.com/l/_4X8sGVwc15O8

D. Unlike phosphorus, nitrogen has no 'd’

orbital in its valence shell

Answer: D

o Watch Video Solution

146. Which one of the following is not an

allotrope of carbon?

A. Graphite

B. Diamond


https://dl.doubtnut.com/l/_4X8sGVwc15O8
https://dl.doubtnut.com/l/_s6YrcDsobyYe

C.Soot

D. Carborundum

Answer: D

O Watch Video Solution

147. Thermite is a mixture of iron oxide and

A. Sodium shavings

B. Aluminium powder

C. Zinc powder


https://dl.doubtnut.com/l/_s6YrcDsobyYe
https://dl.doubtnut.com/l/_lzgCbl6YlSWc

D. Potassium metal

Answer: B

° Watch Video Solution

148. Which one of the following statements is

not correct with respect to BF3 ?

A. it is an electron deficient compound

B. It is a lewis acid

C. It is an ionic compound


https://dl.doubtnut.com/l/_lzgCbl6YlSWc
https://dl.doubtnut.com/l/_wviTCzIdDqVd

D. It forms adducts

Answer: C

o Watch Video Solution

149. The gas that is used for sterilising water is

A. 50,

B. NO,

C.0,

D. NH,


https://dl.doubtnut.com/l/_wviTCzIdDqVd
https://dl.doubtnut.com/l/_Hqj7zt0ICnus

Answer: C

o Watch Video Solution

150. BF; forms an adduct with NH3 because

A. Nitrogen has high electronegativity

B. Boron has smaller atomic radius than

nitrogen

C.Boron has an empty 'p' orbital and

nitrogen has a lone pair of electrons


https://dl.doubtnut.com/l/_Hqj7zt0ICnus
https://dl.doubtnut.com/l/_tYVmc2zwX9LX

D. Boron has electropositive character

Answer: C

° Watch Video Solution

151. The crystalline form of sulphur that is

stable at room temperature is

A. Engel's sulphur

B. Rhombic sulphur

C. Monoclinic sulphur


https://dl.doubtnut.com/l/_tYVmc2zwX9LX
https://dl.doubtnut.com/l/_91WyrQOD33u9

D. Plastic sulphur

Answer: B

° Watch Video Solution

152. Bleaching action of chlorine in presence of

moisture is an example of

A. Oxidation

B. Reduction

C. Displacement


https://dl.doubtnut.com/l/_91WyrQOD33u9
https://dl.doubtnut.com/l/_5oFo1zkzkl0f

D. Substitution

Answer: A

° Watch Video Solution

153. In the electrolysis of HF-KF mixture for the

production of fluorine, the role of KF is

A.To lower the oxidation potential of

fluoride

B. To make HF a conducting solution


https://dl.doubtnut.com/l/_5oFo1zkzkl0f
https://dl.doubtnut.com/l/_mPJK3R0la9Dp

C.se corrosion

D. To lower the solubility of fluorine

Answer: B

o Watch Video Solution

154. In the reaction,
NO, + OCl — NO; + Cl™, the oxidation

state of chlorine

A. Does not change


https://dl.doubtnut.com/l/_mPJK3R0la9Dp
https://dl.doubtnut.com/l/_v6pJm8f09ulP

B. Changes from +1 to -1

C. Changes from -2 to -1

D. Changes from O to -1

Answer: B

o Watch Video Solution

155. Meta-phosphoric acid is represented by

A. Hy PO

B. H, PO


https://dl.doubtnut.com/l/_v6pJm8f09ulP
https://dl.doubtnut.com/l/_45MmnPl1qbha

C. HPO,

D. H,P,O-

Answer: C

° Watch Video Solution

156. In which of the following, sulphur has the

lowest oxidation state?

A. H,50,

B. SO,


https://dl.doubtnut.com/l/_45MmnPl1qbha
https://dl.doubtnut.com/l/_nSd3NQp2R7ad

C. H,50;

D. HyS

Answer: D

° Watch Video Solution

157. The catalyst used in the manufacture of

sulphuric acid by contact process is

A. Al,O4

B. C’l°203


https://dl.doubtnut.com/l/_nSd3NQp2R7ad
https://dl.doubtnut.com/l/_YNjvtdp2Ulcu

C. V505

D. HyS

Answer: C

° Watch Video Solution

158. The rare gas which is more abundant in

atmosphere is

A. Ne

B.RNn


https://dl.doubtnut.com/l/_YNjvtdp2Ulcu
https://dl.doubtnut.com/l/_C2rHtSI3I055

C. Xe

D. Ar

Answer: D

° Watch Video Solution

159. The oxidation number of chlorine in

KClOg IS

A +5


https://dl.doubtnut.com/l/_C2rHtSI3I055
https://dl.doubtnut.com/l/_cGY7Hji1rjxc

C.+1

Answer: A

O Watch Video Solution

160. The melting point of diamond is very high

since the type of bonding in it is

A. Two dimensional network

B. Metallic


https://dl.doubtnut.com/l/_cGY7Hji1rjxc
https://dl.doubtnut.com/l/_mqcPYGhW4m7k

C. Covalent coordinate

D. Three dimensional giant network

Answer: D

o Watch Video Solution

161. The chemical formula of bleaching powder

is

A. CCLOQ Cl

B. Ca(OCI)Cl


https://dl.doubtnut.com/l/_mqcPYGhW4m7k
https://dl.doubtnut.com/l/_FzefOutR6SFQ

C. Al

D. CaClz

Answer: B

° Watch Video Solution

162. Bauxite is a mineral for the extraction of

A.Ca

B.Cu

C. Al


https://dl.doubtnut.com/l/_FzefOutR6SFQ
https://dl.doubtnut.com/l/_Qrf5rYQTQmbf

D. Fle

Answer: C

o Watch Video Solution

163. Qhwn NH,NOs is heated, the gas formed

IS

A. N,

B. NO,

C. N>,O


https://dl.doubtnut.com/l/_Qrf5rYQTQmbf
https://dl.doubtnut.com/l/_nUgeIjIc5x7K

D. NH,

Answer: C

o Watch Video Solution

164. In diborane,

undergoes _ hybridisation.

boron

atom


https://dl.doubtnut.com/l/_nUgeIjIc5x7K
https://dl.doubtnut.com/l/_Ha6pG4vFCK3a

D. dsp’

Answer: A

° Watch Video Solution

165. Which of the following statements about

halogens is correct?

A.They are all distomic and form universal

ions


https://dl.doubtnut.com/l/_Ha6pG4vFCK3a
https://dl.doubtnut.com/l/_CJVbspf56RCw

B.They are all dioatomic and form

divalentions

C. They are all capable of exhibiting several

oxidation states

D. They can mutually displace each other

from the solution of their compounds

with metals

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CJVbspf56RCw
https://dl.doubtnut.com/l/_DFvvZMcmpbUU

166. Which of the following oxides of nitrogen

is anhydride of HNO3 ?

A. N,O4

B. N2O4

C. N,O5

D. N,O

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DFvvZMcmpbUU
https://dl.doubtnut.com/l/_KQ6Jmzlu0de1

167. The non-metallic element present in the

mineral cryolite is,

A. Na

B. Al

C.F

D. Mg

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_KQ6Jmzlu0de1

168. Among the SO,, H,50, and sodium

thiosulphate, sulphur has the highest

oxidation state in

A. 50,

B. H,S0,

C. Sodium thiosulphate

D. Same in all

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_p9sCdAaLBuiv

169. Besides Si0y and Al O3, the other major

ingredient in portland cement is

A.CaCO3

B. M9003

C.Lime

D. Sodium peroxide

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kvqCqG5t8O15

